
CHEMISTRY

BOOKS - TARGET CHEMISTRY (HINGLISH)

ELECTROCHEMISTRY

Classical Thinking

1. A redox reaction is:

A. only oxidation process takes place

B. only reduction process takes place

C. both oxidation and reduction reaction takes place

simultaneously

D. either oxidation or reduction reaction takes place

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_A1DAfi6H0ggT


Answer: C

Watch Video Solution

2. An example for an oxidation reaction is __________.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Pb4 + + 2e− → Pb2 +

Cl + e− → Cl−

H2 → H + + e−1

2

Zn2 + + 2e− → Zn

3. Which substance is serving as a reducing agent in the following

reaction? 

https://dl.doubtnut.com/l/_A1DAfi6H0ggT
https://dl.doubtnut.com/l/_RoEwLC0JIRqR
https://dl.doubtnut.com/l/_6sktgDS4s38f


A. 

B. Ni

C. 

D. 

Answer: B

Watch Video Solution

14H + + Cr2O
2 −
7 + 3Ni → 2Cr3 + + 7H2O + 3Ni2 +

H2O

H +

Cr2O
2 −
7

4. The flow of the electric current through a metallic conductor is

A. metal atoms

B. electrons

C. ions

D. metallic kernels

https://dl.doubtnut.com/l/_6sktgDS4s38f
https://dl.doubtnut.com/l/_RrZLbENCdmdp


Answer: B

Watch Video Solution

5. An electrolyte is a substance which

A. conducts electric current in any state

B. is capable of ionization and allow passage of electric current in

its aqueous solutions

C. dissociates into ions by dissolving in any solvent

D. facilitates the movement of electrons even in the solid state

Answer: B

Watch Video Solution

6. Electrolytic conduction is due to the movement of :

https://dl.doubtnut.com/l/_RrZLbENCdmdp
https://dl.doubtnut.com/l/_zJaxkkZGZycj
https://dl.doubtnut.com/l/_wxDu3IwMYaDt


A. electrons

B. protons

C. ions

D. molecules

Answer: C

Watch Video Solution

7. Strong electrolytes are those which:

A. dissociates into ions only at low dilution

B. do not conduct electricity

C. dissociates into ions only at high dilution

D. completely dissociate into ions at all dilutions

Answer: D

https://dl.doubtnut.com/l/_wxDu3IwMYaDt
https://dl.doubtnut.com/l/_efc8UtjD7Vlo


Watch Video Solution

8. Best conductor of electricity is

A. 1M Acetic acid

B. 1M Sulphuric acid

C. 1M Boric acid.

D. 1M Formic acid.

Answer: B

Watch Video Solution

9. Which of the following is a poor conductor of enectricity

A. 

B. 

CH3COONa

C2H5OH

https://dl.doubtnut.com/l/_efc8UtjD7Vlo
https://dl.doubtnut.com/l/_GXX26dXeNk41
https://dl.doubtnut.com/l/_rRhJutGpCeAz


C. NaCl

D. KOH

Answer: B

Watch Video Solution

10. Electrolytes when dissolved in water dissociate into ions because:

A. the water dissolves them

B. they are unstable

C. the forces of repulsion increases

D. the forces of electrostatic attraction are broken down by the

water

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_rRhJutGpCeAz
https://dl.doubtnut.com/l/_SaqvTLOygVWa


11. The specific conductances of four electrolytes in  are

given below. Which one offers higher resistance to passage of electric

current?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ohm− 1cm− 1

7.0 × 10− 5

9.2 × 10− 9

6.0 × 10− 7

4.0 × 10− 8

12. If X is the conductivity of the solution and M is the molarity of the

solution, the molar conductivity of the solution is given by ________.

https://dl.doubtnut.com/l/_SaqvTLOygVWa
https://dl.doubtnut.com/l/_J3S3Gquz9wxf
https://dl.doubtnut.com/l/_SPTQZ54m9uhg


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1000X

M

1000

XM

1000M

X

MX

1000

13. The increase in the equivalent conductance of a salt solution on

dilution is due to increase in the

A. ionic attraction

B. molecular attraction

C. degree of association of the electrolyte

D. degree of ionization of the electrolyte

https://dl.doubtnut.com/l/_SPTQZ54m9uhg
https://dl.doubtnut.com/l/_qgYVIVwJcnoV


Answer: D

Watch Video Solution

14. When a concentrated solution of an electrolyte is diluted

A. decreases

B. increases

C. remains same

D. first increases then decreases

Answer: B

Watch Video Solution

15. At infinite dilution of an electrolyte, the equivalent conductance of

cations at anions are  of each other.…………………

https://dl.doubtnut.com/l/_qgYVIVwJcnoV
https://dl.doubtnut.com/l/_ug1OqMnY3qgV
https://dl.doubtnut.com/l/_4d4l8oSl0hVu


A. dependent on each other

B. independent of each other

C. dependent on the nature of the solvent

D. dependent on the cell

Answer: B

Watch Video Solution

16. The electrodes of a conductivities cell are 3 cm apart and have a

cross-sectional area of 4 . The cell constant of the cell (in )

is _________

A. 

B. 

C. 

D. 

cm2 cm− 1

4 × 3

4/3

3/4

9/4

https://dl.doubtnut.com/l/_4d4l8oSl0hVu
https://dl.doubtnut.com/l/_lzAqJ45twgJ2


Answer: C

Watch Video Solution

17. At  specific conductivity of a normal solution of  is 

 ohm. The resistance of cell is  ohms. The cell constant

is .

A. 0.815

B. 1.016

C. 1.106

D. 2.016

Answer: C

Watch Video Solution

25∘C KCI

0. 0022765 400

https://dl.doubtnut.com/l/_lzAqJ45twgJ2
https://dl.doubtnut.com/l/_f5kWvvzlDiPY


18. Specific conductance of 0.1M nitric acid is 

. The molar conductance of the solution is:

A. 100

B. 315

C. 630

D. 6300

Answer: C

Watch Video Solution

6.3 × 10− 2ohm− 1cm− 1

19. The molar conductance of NaCl, HCl and  at infinite

dilution are 126.45, 426.16 and 91  respectively. The

molar conductance of  at infinite dilution is :

A. 201.28

CH3COONa

ohm− 1cm2mol− 1

CH3COOH

https://dl.doubtnut.com/l/_Yh3oc5OEcRNE
https://dl.doubtnut.com/l/_2Uv4H0nYXpsm


B. 390.71

C. 698.28

D. 540.48

Answer: B

Watch Video Solution

20. The molar conductance of 0.001 M acetic acid is

. The maximum value of "mol"ar conductance is

250 . What is its degree if ionization ?

A. 

B. 

C. 

D. 

50ohm − 1cm2mol − 1

ohm − 1cm2mol − 1

0.2 %

2 %

20 %

22 %

https://dl.doubtnut.com/l/_2Uv4H0nYXpsm
https://dl.doubtnut.com/l/_ZrbxMQjDc3qX


Answer: C

Watch Video Solution

21. The equivalent conductance of  benzoic acid is 

. If the conductance of benzoate ion and  ion are  and 

 respectively. Its degree of dissociation is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1M 12.8ohm− 1cm2

H + 12

288.42ohm− 1cm2

39 %

3.9 %

0.35 %

0.039 %

https://dl.doubtnut.com/l/_ZrbxMQjDc3qX
https://dl.doubtnut.com/l/_qctJvND7rx8j


22. Which of the following is INCORRECT ?

A. The device used to study chemical reactions electrically is called

as an electrochemical cell.

B. For electrochemical reactions, the net cell reaction is obtained

by sum of the oxidation half reaction and reduction half

reaction taking place at the respective electrodes.

C. Electrolytic cells and voltaic cells are the two types of

electrochemical cells.

D. In an electrochemical cell, anode is always positive.

Answer: D

View Text Solution

23. Which of the following is NOT a voltaic cell ?

https://dl.doubtnut.com/l/_J9mbEaqwdrAP
https://dl.doubtnut.com/l/_ZndOuLyxi1j0


A. Cell used for metal plating

B. Lead storage cell

C. Fuel cell

D. NICAD

Answer: A

View Text Solution

24. In an electrolytic cell

A. chemical energy into electrical energy

B. electrical energy into chemical energy

C. chemical energy into mechanical energy

D. electrical energy into mechanical energy

Answer: B

https://dl.doubtnut.com/l/_ZndOuLyxi1j0
https://dl.doubtnut.com/l/_yLcuVaFy70wA


Watch Video Solution

25. In dry cell , reaction which takes place at the anode is __________.

A. oxidation

B. reduction

C. dissociation

D. dilution

Answer: A

Watch Video Solution

26. If Pt is used as cathode in the electrolysis of aqueous NaCl

solution, the ion reduced at cathode is :

A. Na+ + e− → Na

https://dl.doubtnut.com/l/_yLcuVaFy70wA
https://dl.doubtnut.com/l/_AYiMgVd53u90
https://dl.doubtnut.com/l/_3fZKdqlge9kW


B. 

C. 

D. 

Answer: A

Watch Video Solution

Na → Na+ + e−

Cl + e− → Cl−

Cl → Cl + e−

27. Which of the following gases are evolved by the electrolysis of

aqueous solution of ?

A.  ion is oxidized at cathode

B.  ion is reduced at anode

C.  is oxidized at anode

D.  ion is either reduced nor oxidized

Answer: C

NaCl

Cl−

Cl−

Cl−

Cl−

https://dl.doubtnut.com/l/_3fZKdqlge9kW
https://dl.doubtnut.com/l/_JG0xGmz0B02z


Watch Video Solution

28. When 1 ampere of current flows for 1 second through a conductor,

this quantity is called ____________.

A. Coulomb

B. Faraday

C. EMF

D. Ohm

Answer: A

Watch Video Solution

29. The amount of electric charge on one mole of electrons is

__________.

https://dl.doubtnut.com/l/_JG0xGmz0B02z
https://dl.doubtnut.com/l/_Bu89PIOOFszF
https://dl.doubtnut.com/l/_AjW9tK9CS296


A. Ampere

B. Volt

C. Ohm

D. Faraday

Answer: D

Watch Video Solution

30. One coulomb is equal to

A. Ampere  second

B. Ampere  minute

C. Watt  second

D. Volt  second

Answer: A

×

×

×

×

https://dl.doubtnut.com/l/_AjW9tK9CS296
https://dl.doubtnut.com/l/_lpPV8tu0BhtE


Watch Video Solution

31. Write Faraday's Laws of electrolysis.

A. for the same electrolyte , the mass of a substance produced or

consumed at an electrode is directly proportional to the

quantity of electricity passed through the electrolytic cell.

B. When same quantity of electricity is passed through different

electrolytes, the amount of product obtained is propotional to

their equivalent mass

C. when same quantity of electricity is passed through different

electrolytes , the amounts of products obtained are

proportional to their molecular masses.

D. for the same electrolytes , the mass of a substance produced or

consumed at an electrode is inversely proportional to the

https://dl.doubtnut.com/l/_lpPV8tu0BhtE
https://dl.doubtnut.com/l/_KL5L7ULoysg5


quantity of electricity passed through the electrolytic cell

Answer: A

Watch Video Solution

32. When the same quantity of electricity is passed through the

solution of different electrolytes in series, the amount of product

obtained is proportional to their

A. empirical mass

B. equivalent mass

C. atomic number

D. valency

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_KL5L7ULoysg5
https://dl.doubtnut.com/l/_j7hfTLqpXD0l


33. What is electrochemical equivalent of a substance ?

A. faraday

B. one coulomb

C. 96500 coulomb

D. one ampere

Answer: B

Watch Video Solution

34. The unit of electrochemical equivalent is

A. gram

B. gram/ampere

C. gram/coulomb

D. coulomb/gram

https://dl.doubtnut.com/l/_lCyyLqp2z0r0
https://dl.doubtnut.com/l/_zuC8UuK99nFx


Answer: C

Watch Video Solution

35. The number of electron involved when one faraday of electricity is

passed through an electrolytic solution is:

A. 

B. 96500

C. 

D. 

Answer: C

Watch Video Solution

12 × 1046

6.023 × 1023

22.4 × 1023

https://dl.doubtnut.com/l/_zuC8UuK99nFx
https://dl.doubtnut.com/l/_PMM9X6tbUp1v


36. An electric current of 'I' amperes was passed through a solution of

an electrolyte for 't' seconds depositing 'W' grams of the metal 'M' on

the cathode. The equivalent mass 'E' of the metal will be __________.

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

E =
I × t

W × 96, 500

E =
I × W

t × 96, 500

E =
96, 500 × W

I × t

I × t × 96, 500

W

37. On passing electric current into a solution of a salt of metal M, the

reaction taking place at the cathode is  . The

atomic mass of M is 65. The equivalent mass of the metal is ________.

M 2 + + 2e− → M

https://dl.doubtnut.com/l/_82RzWv1m13JQ
https://dl.doubtnut.com/l/_xyi9k6fymCZl


A. 16.2

B. 130

C. 65

D. 32.5

Answer: D

Watch Video Solution

38. The time required to pass 36,000 C through an electroplating

bath using a current of 10 A is ________.

A. 30 mins

B. one hour

C. one hour 30 mins

D. two hours

https://dl.doubtnut.com/l/_xyi9k6fymCZl
https://dl.doubtnut.com/l/_VDppOHGEyl3G


Answer: B

View Text Solution

39. The quantity of electricity needed to liberate 0.5 gram equivalent

of an element is ________.

A. 48250 Faradays

B. 48250 Coulombs

C. 193000 Faradays

D. 193000 Coulombs

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_VDppOHGEyl3G
https://dl.doubtnut.com/l/_jno7KLSYJza3


40. Quantity of electricity which liberates 108 g of Ag from 

solution is equal to_________.

A. one ampere

B. one coulomb

C. one Faraday

D. electrochemical equivalent

Answer: C

View Text Solution

AgNO3

41. Number of Faradays required to liberate 2 g of hydrogen is

__________.

A. 2

B. 4

https://dl.doubtnut.com/l/_9JosINJp9pl3
https://dl.doubtnut.com/l/_eM92LwjtCUDg


C. 6

D. 1

Answer: A

View Text Solution

42. How much charge in faraday is required for the reduction of 1

mole of  ions to Cu ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Cu2 +

1.23 × 105C

1.63 × 105C

1.93 × 105C

2.12 × 105C

https://dl.doubtnut.com/l/_eM92LwjtCUDg
https://dl.doubtnut.com/l/_YF1zpyE6chT7


43. What is the equivalent mass of a metal having electrochemical

equivalent of  kg?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3.4 × 10− 7

32.81 × 10− 2Kg

3.281 × 10− 2Kg

3281 × 102Kg

328.1 × 10− 2Kg

44. On passing 3 A of electricity for 50 min, 1.8 g of metal deposits.

The equivalent mass of metal is

A. 20.5

https://dl.doubtnut.com/l/_YF1zpyE6chT7
https://dl.doubtnut.com/l/_JXr4vdW22yBf
https://dl.doubtnut.com/l/_AoWdrjSJ0MBF


B. 25.8

C. 19.3

D. 30.7

Answer: C

Watch Video Solution

45. One Faraday electricity is passed through  solution,

number of atoms of Al deposited at cathode will be__________.

A. 

B. 

C. 

D. 27

Answer: B

Al2(SO4)3

6.023 × 1023

2.008 × 1023

3.010 × 1023

https://dl.doubtnut.com/l/_AoWdrjSJ0MBF
https://dl.doubtnut.com/l/_yldd1MBje2wa


Watch Video Solution

46. The number of electrons required to deposit  atom of

aluminium (At. Wt. = 27) from a solution of aluminium cholride will be

(wher N is Avogadro's number)

A. 1N

B. 2N

C. 3N

D. 4N

Answer: C

Watch Video Solution

1g

47. The atomic weight of Fe is 56. The weight of Fe deposited from

 solution by passing 0.6 Faraday of electricity is _________.FeCl3

https://dl.doubtnut.com/l/_yldd1MBje2wa
https://dl.doubtnut.com/l/_bMm2PZrY6unQ
https://dl.doubtnut.com/l/_B4Q4M4UqXcWs


A. 5.6 g

B. 11.2 g

C. 22.4g

D. 33.6 g

Answer: B

Watch Video Solution

48. How long does it take to deposit 100 g of Al from an electrolytic

cell containing  using a current of 125 ampere ?

A. 95.30 min

B. 143 min

C. 47.65 min

D. 10 min

Al2O3

https://dl.doubtnut.com/l/_B4Q4M4UqXcWs
https://dl.doubtnut.com/l/_fiJv7ha5j4jG


Answer: B

Watch Video Solution

49. The current in amperes when 11.74 g of nickel is deposited from a

nickel(II) ion solution in 1000 second is ________ 

(At. Mass of Ni = 58.7)

A. 96.5 A

B. 38.6A

C. 24.125 A

D. 19.3 A

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_fiJv7ha5j4jG
https://dl.doubtnut.com/l/_fysCPVGyR8bU


50. The amount of electricity that should be passed through 

solution with Cu electrodes to deposit 0.1 g atom of Cu is _________.

A. 9650 coulombs

B. 96500 coulombs

C. 19300 coulombs

D. 193000 coulombs

Answer: C

Watch Video Solution

CuSO4

51. What is electrochemical equivalent of a substance ?

A. 

B. 

C. 

Atomic mass ×valency

96500

Atomic mass × 96500

Valency

Atomic mass

Valency × 96500

https://dl.doubtnut.com/l/_VAHEA3wAjfS4
https://dl.doubtnut.com/l/_nikVDBG0gHce


D. 

Answer: C

Watch Video Solution

Valency × 96500

Atomic mass

52. A cell in which electric current is produced by redox process is

called ________ cell.

A. voltaic

B. standard

C. reference

D. electrolytic

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_nikVDBG0gHce
https://dl.doubtnut.com/l/_fZtaLXG1TV9W
https://dl.doubtnut.com/l/_bw0FTJXRDPbq


53. The cell reaction 

 


is best represented by

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Zn(s) + 2Ag+ (aq) → Zn2 + (aq) + Ag(s)

Ag∣∣Ag+ ||Zn∣∣Zn2 +

Zn ∣ Zn2 + ||Ag2 + ∣∣Ag

2Ag|Ag||Zn|ZN 2 +

Zn∣∣Zn
2 + ||2Ag∣∣Ag

+

54. In the cell , the negaitve terminal is

A. inert graphite electrode

B. metallic copper strip

Zn∣∣Zn
2 + ∣∣∣∣Cu

2 + ∣∣Cu

https://dl.doubtnut.com/l/_bw0FTJXRDPbq
https://dl.doubtnut.com/l/_Lx7WWb26k172


C. metallic zinc strip

D. metallic aluminium strip

Answer: C

Watch Video Solution

55. The potenital difference between the metal electrode and

solution around it under equilibrium condition is called as ________

potential.

A. standard reduction

B. standard oxidation

C. redox

D. electrode

Answer: D

W t h Vid S l ti

https://dl.doubtnut.com/l/_Lx7WWb26k172
https://dl.doubtnut.com/l/_y6Ih8QR6DIYQ


Watch Video Solution

56. The e.mf. of an electrolytic cell depends mostly on :

A. temperature

B. nature of electrode

C. concentration of solution of two half-cells

D. all of these

Answer: D

Watch Video Solution

57. If the standard electrode poten tial of  electrode is

0.34V. What is the electrode potential of 0.01 M concentration of

?

A. 

Cu2 + /Cu

Cu2 +

Cu → Cu2 + + 2e−

https://dl.doubtnut.com/l/_y6Ih8QR6DIYQ
https://dl.doubtnut.com/l/_smUBn2zNbZjr
https://dl.doubtnut.com/l/_ZEzMm8bvoFVC


B. 

C. 

D. 

Answer: B

Watch Video Solution

Cu2 + + 2e− → Cu

Cu+ → Cu2 + + e−

Cu → Cu+ − e−

58. The e.m.f. of the following cell at  is _________. 

 


A. 

B. 

C. 

D. 0.403 V

25∘C

Fe ( s ) ∣∣FeSO4 ( aq ) (0.1M)∣∣∣∣CuSO4 ( aq ) (0.01M)∣∣Cus

(E ∘
Fe2 + ∣ ∣Fe

= − 0.44V and E ∘
cu2 + ∣Cu

= 0.337V )

−0.403V

0.777V

−0.777V

https://dl.doubtnut.com/l/_ZEzMm8bvoFVC
https://dl.doubtnut.com/l/_HjmIp1L0CmOm


Answer: B

Watch Video Solution

59.  for  is  for  is 

A. 2.8 V

B. 1.4 V

C. 

D. 

Answer: A

Watch Video Solution

E ∘ F2 + 2e− ⇔ 2F − 2.8V , E ∘ F + e− = F −1

2

−

−2.8V

−1.4V

60. In the cell, ________.Zn∣∣Zn
2 + ||Cu2 + ∣∣Cu

https://dl.doubtnut.com/l/_HjmIp1L0CmOm
https://dl.doubtnut.com/l/_KBrBsWA8PuCF
https://dl.doubtnut.com/l/_4r56BGLt8i2P


A. zinc gets oxidized

B. copper gets oxidized

C. zinc gets oxidized and copper gets reduced

D. copper gets oxidized and zinc gets reduced

Answer: C

Watch Video Solution

61. The Nernst equation for the potential of an electrode

 is _________.

A. 

B. 

C. 

D. 

M n+
( aq )

∣ M ( s )

Eel = E ∘
el

+ log10

2.303RT

nF

[M]

[M n+ ]

Eel + E ∘
el

+ log10

0.592RT

nF

[M n+ ]

[M]

Eel + E ∘
el

+ log10[M]
0.592RT

nF

Eel = E ∘
el

+ log10[M
n+ ]

2.303RT

nF

https://dl.doubtnut.com/l/_4r56BGLt8i2P
https://dl.doubtnut.com/l/_JAi1gW9aC4Ej


Answer: D

Watch Video Solution

62. In a galvanic cell

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Ecell

FEcell

nFEcell

Ecell

nF

63. Which of the following has been universally accepted as a

reference electrode at all temperature and has been assigned a value

https://dl.doubtnut.com/l/_JAi1gW9aC4Ej
https://dl.doubtnut.com/l/_QGCMmT4Vgslx
https://dl.doubtnut.com/l/_C4er4Qo1BRKD


of zero volt?

A. Platinium electrode

B. Graphite electrode

C. Calomel electrode

D. Standard hydrogen electrode

Answer: D

Watch Video Solution

64. The electrode  is reversible with respect to

__________.

A.  ions

B.  ions

C. both  ions

Pt, H2 ( g ) ∣ HCl

Cl−

H +

H + and Cl−

https://dl.doubtnut.com/l/_C4er4Qo1BRKD
https://dl.doubtnut.com/l/_wjITzOPxkMnM


D. HCl

Answer: B

Watch Video Solution

65. The calomel electrode can be represented as _________.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

KCl ( aq ) ∣∣HgCl2 ( g ) ∣∣Hg ( s ) ∣∣Pt

KCl ( aq ) ∣∣HgCl2 ( s ) ∣∣Hg ( l ) ∣∣Pt

KCl ( aq ) ∣∣Hg2Cl2 ( s ) ∣∣Hg ( l ) ∣∣Pt

Hg2Cl2 ( l ) ∣∣KCl ( aq ) ∣∣Hg ( l ) ∣∣Pt

https://dl.doubtnut.com/l/_wjITzOPxkMnM
https://dl.doubtnut.com/l/_cQPpLbQYgKRw


66. In a calomel electrode, the glass tube is filled with ________.

A. paste of calomel in Hg and saturated KCl solution

B. paste of calomel in Hg

C. paste of  in Hg

D. saturated KCl and 

Answer: A

Watch Video Solution

PbCl2

PbCl2

67. The type of a battery, in which the reaction occurs only once and

then battery becomes dead over a period of time is known as

__________.

A. primary cell

B. secondary cell

https://dl.doubtnut.com/l/_D9Sv7BOBas5V
https://dl.doubtnut.com/l/_Gkxwq1RgvV17


C. lead storage battery

D. nickel cadmium cell

Answer: A

Watch Video Solution

68. A dry cell is also known as ___________ cell.

A. lead storage

B. Leclanche

C. fuel

D. Daniel

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Gkxwq1RgvV17
https://dl.doubtnut.com/l/_l0Gr2OsjDhmv
https://dl.doubtnut.com/l/_wewKNYekMLJd


69. In a Leclanche cell, cathode is _______.

A. zinc rod

B. FeO and 

C. zinc container

D. 

Answer: D

Watch Video Solution

Fe(OH)2

MnO2 + C

70. The acid used in lead storage battery is`

A. 

B. 

C. HCl

D. 

H2SO4

H3PO4

HNO3

https://dl.doubtnut.com/l/_wewKNYekMLJd
https://dl.doubtnut.com/l/_r7V95hTk0XLR


Answer: A

Watch Video Solution

71. During the recharging of lead storage cell,_________.

A. concentration of lead is decreased

B. lead sulphate concentration is increased

C. concentration of  is increased

D. concentration of  is decreased

Answer: C

View Text Solution

H2SO4

PbO2

72. When fully charged, the e.m.f. of a lead accumulator cell is ________.

https://dl.doubtnut.com/l/_r7V95hTk0XLR
https://dl.doubtnut.com/l/_nbJTzu8HfnDH
https://dl.doubtnut.com/l/_RT3dsp0L3IAj


A. 0 volt

B. 5 volts

C. 2.04 volts

D. 3 volts

Answer: C

Watch Video Solution

73. NICAD cell consists of _________ cathode.

A. cadmium

B. 

C. carbon

D. Pb

Answer: B

NiO2

https://dl.doubtnut.com/l/_RT3dsp0L3IAj
https://dl.doubtnut.com/l/_flKW3bZhxSxf


Watch Video Solution

74. NICAD cell can be sealed as ________.

A. it does not contain liquid electrolyte

B. no gaseous product are formed in the reaction

C. it is a secondary cell

D. it is more expensive

Answer: B

Watch Video Solution

75. The middle compartment of the hydrogen-oxygen fuel cell

contains, hot aqueous solution of _________.

A. NaOH

https://dl.doubtnut.com/l/_flKW3bZhxSxf
https://dl.doubtnut.com/l/_GkqD7lIKSRzJ
https://dl.doubtnut.com/l/_YYu3Us2AQW3B


B. KOH

C. HCl

D. 

Answer: B

Watch Video Solution

H2SO4

76. The product obtained in fuel cell is ________.

A. hydrochloric acid

B. hydrogen gas

C. water

D. potassium hydroxide

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_YYu3Us2AQW3B
https://dl.doubtnut.com/l/_Rv4zAR6o8bAU


77. The elements placed in the lower part of the left side of e.m.f.

series are __________ agents.

A. good oxidizing

B. weak oxidizing

C. good reducing

D. weak reducing

Answer: B

Watch Video Solution

78. Which of the following is storingly electropositive ?

A. 

B. 

A(E ∘ = − 0.44V )

B(E ∘ = − 2.37V )

https://dl.doubtnut.com/l/_Rv4zAR6o8bAU
https://dl.doubtnut.com/l/_nMLSxKjhqCYf
https://dl.doubtnut.com/l/_jMtXabD1taKN


C. 

D. 

Answer: D

Watch Video Solution

C(E ∘ = − 2.86V )

D(E ∘ = − 2.92V )

79. Corrosion is basically

A. direct action of oxygen on metal

B. electrochemical phenomenon

C. biochemical phenomenon

D. union between light metal and heavy metal

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_jMtXabD1taKN
https://dl.doubtnut.com/l/_2iDFyCalC76b
https://dl.doubtnut.com/l/_qoFrPxACQTxY


80. In electrochemical corrosion of metals, the metal undergoing

corrosion

A. anode

B. cathode

C. neither anode or cathode

D. neither anode or cathode depending upon its standard

reduction potential

Answer: A

Watch Video Solution

81. Which of the following indicates corrosion ?

A. Rust on iron

B. Formation of green film on brass

https://dl.doubtnut.com/l/_qoFrPxACQTxY
https://dl.doubtnut.com/l/_7IvPLLKMCTio


C. Loss of luster of silver metal

D. all of these

Answer: D

Watch Video Solution

82. During rusting of iron, it gets _________

A. oxidised and dehydrated

B. reduced and hydrated

C. oxidised and hydrated

D. reduced and dehydrated

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_7IvPLLKMCTio
https://dl.doubtnut.com/l/_EOtbRNohiB97
https://dl.doubtnut.com/l/_oi9p0MHsqvFN


83. The most durable metal plating on iron to protect it againt

corrosion is

A. nickel

B. copper

C. tin

D. zinc

Answer: D

Watch Video Solution

84. What of the following represents process of passivation ?

A. Coating the metal surface by point

B. Coating the metal surface with another metal

C. Connecting the metal with more easily oxidizable agent.

https://dl.doubtnut.com/l/_oi9p0MHsqvFN
https://dl.doubtnut.com/l/_fneB5tEvd9wY


Critical Thinking

D. Treating the metal with a strong oxidizing agent.

Answer: D

Watch Video Solution

1. Which of the following is INCORRECT about an oxidising agent ?

A. Oxidising agent itself undergoes reduction.

B. Oxidising agent accepts electrons

C. There is no change in the oxidation number of the atoms of the

oxidising agent.

D. Oxidising agent brings about oxidation in another species.

Answer: C

https://dl.doubtnut.com/l/_fneB5tEvd9wY
https://dl.doubtnut.com/l/_Jbf7chRdsIdu


Watch Video Solution

2. Which statement is NOT true for the given reaction

 ?

A.  is being reduced.

B. The oxidation state of Fe has changed.

C.  could be reffered to as an oxidising agent in this

reaction.

D. It is anodic reaction in electrolytic cell.

Answer: D

Watch Video Solution

Fe3 + + e− → Fe2 +

Fe3 +

Fe3 +

3. Which one is NOT a conductor of electricity ?

https://dl.doubtnut.com/l/_Jbf7chRdsIdu
https://dl.doubtnut.com/l/_1HO9bOsLBmyr
https://dl.doubtnut.com/l/_eetuwvYhgpv2


A. NaCl(aqeuous)

B. NaCl (solid)

C. NaCl (molten)

D. Ag metal

Answer: B

Watch Video Solution

4. Which of the following is NOT a non-electrolyte ?

A. Acetic acid

B. Glucose

C. Sucrose

D. Urea

Answer: A

https://dl.doubtnut.com/l/_eetuwvYhgpv2
https://dl.doubtnut.com/l/_Qyickxk0R4ln


Watch Video Solution

5. A solution of  in water is good conductor while gaseous

hydrogen chloride is not. This is due to the reason that

A. water is a good conductor of electricity

B. hydrogen chloride gas ionizes in water solution

C. gas does not obey Ohm's law whereas solution does

D. gas does not obey Ohm's law whereas solution does

Answer: B

Watch Video Solution

HCl

6. The electrical conductance of a conductor __________.

https://dl.doubtnut.com/l/_Qyickxk0R4ln
https://dl.doubtnut.com/l/_dkr1zHzdy1M9
https://dl.doubtnut.com/l/_Tb1zTAqlKYmh


A. increases as its length increases and increases with its area of

cross section

B. decreases as its length increases and increases with its area of

cross section

C. increases as its length increases and decreases with its area of

cross section

D. decreases as its length increases and decreases with its area of

cross section

Answer: B

Watch Video Solution

7. Which of the following relatioship between the units of electrical

conductance (G) is CORRECT ?

A. 1S = 1Ωs− 1

https://dl.doubtnut.com/l/_Tb1zTAqlKYmh
https://dl.doubtnut.com/l/_rJrFpKh9nlB0


B. 

C. 

D. 

Answer: C

Watch Video Solution

1S = 1A− 1V s− 1

1S = 1CV − 1s− 1

1S = 1CAs− 1

8. The unit of molar conductivity is _______.

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

8.76 × 104ohm − 1cm − 1

8.76 × 10− 4ohm − 1cm − 1

8.76 × 10− 3ohm − 1cm − 1

8.76 × 10− 2ohm − 1cm − 1

https://dl.doubtnut.com/l/_rJrFpKh9nlB0
https://dl.doubtnut.com/l/_riNiOQSTHOmJ


9. A conductivity cell having cell constant  is placed in 0.01

M solution of an electrolyte offered a resistance of 1000  . What

is the condictivity of electrolytic solution ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

8.76cm− 1

ohm

8.76 × 104ohm − 1cm− 1

8.76 × 10− 4ohm − 1cm− 1

8.76 × 10− 3ohm − 1cm− 1

8.76 × 10− 2ohm − 1cm− 1

10. The resistance of a 0.1M solution of acetic acid is 250 , when

measured in a cell of cell constant . The molar conductance

(in ) of 0.1 M acetic acid is ________.

ohm

1.15cm− 1

ohm − 1cm2mol− 1

https://dl.doubtnut.com/l/_riNiOQSTHOmJ
https://dl.doubtnut.com/l/_E4MInIfhuU8I
https://dl.doubtnut.com/l/_ezTy6TXVQX7I


A. 46

B. 9.2

C. 18.4

D. 2.3

Answer: A

Watch Video Solution

11. Kohlrausch law of independent migration of ions applicable for

__________.

A. high concentrated electrolyte solution

B. 1M electrolyte solution

C. electrolyte at zero concentration

D. electrolyte at any concentration

https://dl.doubtnut.com/l/_ezTy6TXVQX7I
https://dl.doubtnut.com/l/_uhWRtHy7V9gb


Answer: C

Watch Video Solution

12. According to Kohlrausch law for infinite dilution, the molar

conductance of the electrolyte is equal to __________.

A. sum of the molar conductance of the cations and anions

present in it

B. difference of the molar conductance of the cations and anions

present in it

C. the ratio of the corresponding conductance of the cations to

the anions present in it.

D. product of the corresponding conductance of the cations and

anions present in it

https://dl.doubtnut.com/l/_uhWRtHy7V9gb
https://dl.doubtnut.com/l/_frPfndGKqJZs


Answer: A

Watch Video Solution

13. The equivalent conductances at infinite dilution of HCl and NaCl

are 426.15 and 126.15 mho  respectively. It can be said that

the mobility of :

A. mobility of  ions is same as that of  ions

B. mobility of  ions is much more than that of  ions.

C. mobility of  ions is much more than that of  ions

D. mobility of  ions is different in both the solutions

Answer: C

Watch Video Solution

cm2geq− 1

H + Cl−

Na+ H +

H + Na+

Cl−

https://dl.doubtnut.com/l/_frPfndGKqJZs
https://dl.doubtnut.com/l/_FL3bOTBKBY80


14. The molar conductivities  and  at infinite dilution is

watter at  are  and mol respectively. To

calculate  the additional value required is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Λ ∘
NaOAc

Λ ∘
HCI

25∘C 91.0 426.2Scm ∘ /

Λ2
HOAc ,

∧∘
H2O

∧∘
KCl

∧∘
NaOH

∧∘
NaCl

15. , 


. 


. 


What is the value of  ?

λClCH2COONa = 224ohm − 1cm2  gm eq − 1

λNaCl = 38.2ohm − 1cm2gmeq− 1

λHCl = 203ohm − 1cm2gm eq − 1

λClCH2COOH

https://dl.doubtnut.com/l/_9Xh5leZfCnFF
https://dl.doubtnut.com/l/_3flfk77YQTOY


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

288.5ohm − 1cm2gmeq− 1

298.5ohm − 1cm2gmeq− 1

388.8ohm − 1cm2gmeq− 1

59.5ohm − 1cm2gmeq− 1

16. Which of the following is TRUE about electrochemical cell ?

A. Oxidation occurs at cathode

B. Redcution occurs at anode

C. Electrons flow from anode to cathode

D. Electrons flow from cathode to anode

Answer: C

https://dl.doubtnut.com/l/_3flfk77YQTOY
https://dl.doubtnut.com/l/_6HDWzP06SBOq


Watch Video Solution

17. Which one of the following reactions cannot be used to set u p an

electrochemical cell?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Fe + 2H + → Fe2 + + H2

Mg + Sn2 + → Mg2 + + Sn

Cl2 + 2KBr → 2KCl + Br2

AgNO3 + NaCl → AgCl + NaNO3

18. If a salt bridge is removed between the half cells, the voltage

A. drops to zero

https://dl.doubtnut.com/l/_6HDWzP06SBOq
https://dl.doubtnut.com/l/_7sVp2S5k2yfx
https://dl.doubtnut.com/l/_ZfPkhQsQwdq3


B. does not change

C. increases rapidly

D. increases gradually

Answer: A

Watch Video Solution

19. Which one of the following is an INCORRECT statement for an

electrochemical cell ?

A. The oxidising and reducing agents should be seperated from

each other.

B. A salt bridge containing the same electrolyte solution as

present in oxidation half cell should be used to internally

connect the two half cells.

C. The cells stops working after some time.

https://dl.doubtnut.com/l/_ZfPkhQsQwdq3
https://dl.doubtnut.com/l/_WWPHtLEfJ7jX


D. The circuit is completed externally by connected a wire to the

electrodes.

Answer: B

View Text Solution

20. Which reaction occurs at the anode during the electrlysis of fused

lead bromide ?

A.  ions are reduced.

B.  ions are oxidised .

C.  ions are reduced.

D.  ions are oxidised

Answer: D

Watch Video Solution

Br−

Pb2 +

Pb2 +

Br−

https://dl.doubtnut.com/l/_WWPHtLEfJ7jX
https://dl.doubtnut.com/l/_FsMg9Mfgjl2M


21. Among  and graphite, which can be used as

electrodes in electrolystic cells having aqueous solutions?

A. Na and S

B. Pt and graphite only

C. Na , Hg and S

D. Hg, Pt and graphite

Answer: D

Watch Video Solution

Na, Hg, S, Pt

22. Faraday first law of electrolysis gives the relation between

__________.

https://dl.doubtnut.com/l/_FsMg9Mfgjl2M
https://dl.doubtnut.com/l/_3mrzZIn8Rgc1
https://dl.doubtnut.com/l/_m4VJGsCBkcvU


A. amount of a substance deposited or dissolved and the quantity

of electricity

B. amount of a substance deposited or dissolved and the

equivalent mass.

C. amount of a substance deposited or dissolved and the

concentration of an electrolyte

D. amount of a substance deposited or dissolved and the

molecular mass.

Answer: A

Watch Video Solution

23. If the same quantity of electricity is passed through two

electrolytes. It A and B are the two substances liberated at the

https://dl.doubtnut.com/l/_m4VJGsCBkcvU
https://dl.doubtnut.com/l/_VQiPRPXAFLav


respective electrodes then, Faraday's second law of electrolysis can

be expressed as __________.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

=
Weigth of A deposited

Weight of A liberated

Equivalent weight of A

Electrochemical equivalent of B

=
Weigth of B deposited

Weight of A liberated

Electrochemical Equivalent of A

Electrochemical equivalent of B

W = Zit

=
Weigth of B deposited

Weight of A liberated

Equivalent weight of B

Equivalent weight of A

24. Faraday constant __________.

A. is a numerical constant

B. depends on equivalent

C. depends upon the current passed

https://dl.doubtnut.com/l/_VQiPRPXAFLav
https://dl.doubtnut.com/l/_5C8CIY5ifH5X


D. depends on the number of electrons

Answer: A

Watch Video Solution

25. The charge ( in coulombs) on  ions is ,___________.

A. 

B. 

C. 

D. 96500

Answer: C

View Text Solution

N +
3

4.8 × 1019

4.8 × 10− 10

1.6 × 10− 19

https://dl.doubtnut.com/l/_5C8CIY5ifH5X
https://dl.doubtnut.com/l/_ihPH3kWqJtSr


26. One coulomb is equal to

A. 96500 elecrons

B. 1 electron

C.  electrons

D.  electrons

Answer: C

Watch Video Solution

6.241 × 1018

6.022 × 1023

27. The atomic mass of oxygen is 16, hence the electrochemical

equivalent(ECE) of oxygen in Kg per coulomb is ___________.

A. 

B. 

C. 

8 × 10− 3

96500

8 × 10− 2

96500

16 × 10− 3

96500

https://dl.doubtnut.com/l/_eO88rNWx8PID
https://dl.doubtnut.com/l/_clmUTmpDYHVP


D. 

Answer: A

Watch Video Solution

16 × 10− 2

96500

28. The number of coulombs required to liberate  of

chlorine at  and 1 atm pressure is _________.

A. 

B. 

C. 965

D. 9650

Answer: A

Watch Video Solution

0.224dm3

0∘C

2 × 965

965

2

https://dl.doubtnut.com/l/_clmUTmpDYHVP
https://dl.doubtnut.com/l/_0CK6tsztlI3C
https://dl.doubtnut.com/l/_pZ64O9TmiBOU


29. In the electrolysis of water, one faraday of electrical energy would

evovle at STP

A. one mole of dioxygen

B. on egram atom of dioxygen

C. 8 gram of dioxygen

D. 22.4 litres of dioxygen

Answer: C

Watch Video Solution

30. One Faraday of electricity will liberate half gram atom of the

metal from a solution of _________.

A. 

B. 

AuCl2

CuCl

https://dl.doubtnut.com/l/_pZ64O9TmiBOU
https://dl.doubtnut.com/l/_pMf4rrFObV1U


C. 

D. NaCl

Answer: C

Watch Video Solution

BaCl2

31. If the atomic mass of M is x, the electrochemical equivalent of M in

the solution of  will be __________.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

M2(SO4)3

3x

F

x

3F

2x

F

x

F

https://dl.doubtnut.com/l/_pMf4rrFObV1U
https://dl.doubtnut.com/l/_uC9T1QtQPe9v


32. When 48250 C of electricity is passed through an aqueous

solution of (atomic mass of Ni= 58.8) , the mass of nickel metal

deposited would be_________.

A. 7.3 g

B. 14.7 g

C. 22.0 g

D. 29.4 g

Answer: B

Watch Video Solution

NiI2

33. Mass of copper deposited by the passage of 2 A of current for 965

s through a 2 M solution of  is (At. Mass of Cu= 63.5) __________.

A. 0.325 g

CuSO4

https://dl.doubtnut.com/l/_uC9T1QtQPe9v
https://dl.doubtnut.com/l/_UMMiOfsQN28Y
https://dl.doubtnut.com/l/_OqpHEJFFUtB4


B. 0.635 g

C. 1 g

D. 1.2 g

Answer: B

Watch Video Solution

34. Passage of 96500 coulomb of electricity liberates …… litre of  at

NTP during electrolysis-

A. 5.6

B. 6.5

C. 22.4

D. 11.2

Answer: A

O2

https://dl.doubtnut.com/l/_OqpHEJFFUtB4
https://dl.doubtnut.com/l/_jwsJNGSAKPs4


Watch Video Solution

35. When a current of 3A is passed through an aqueous solution of a

palladium salt, the mass of Pd metal deposited in 1 hour is 2.98 g. If

the metal's atomic mass is 106.4, the valency of palladium is _________.

A. 5

B. 4

C. 3

D. 2

Answer: B

Watch Video Solution

36. The number of molecules of chlorine that would be deposited

from molten NaCl in one minute by current of 300 milliamperes is

https://dl.doubtnut.com/l/_jwsJNGSAKPs4
https://dl.doubtnut.com/l/_ZEZHrJxbOvnw
https://dl.doubtnut.com/l/_MKnJdTANOpyY


__________.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1.123 × 1020

6.621 × 10− 3

2.216 × 1020

5.6 × 1019

37. A metal is know to form fluoride . When  of electricity is

passed through a molten sat for  of metal is deposited.

Find the atomic weight of M. what will be the quantity electricity

required to deposit the same mass of  form ?

A. 57.02

B. 148

MF2 10A

330 sec, 1.95g

Cu CuSO4

https://dl.doubtnut.com/l/_MKnJdTANOpyY
https://dl.doubtnut.com/l/_GEt9JVDAUsmx


C. 228

D. 114

Answer: D

Watch Video Solution

38. What will be the current required to deposited on the cathode

39.4 g gold/hour from a solution containing a salt of gold (III)?

A. 16 A

B. 26.5 A

C. 56 A

D. 100 A

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_GEt9JVDAUsmx
https://dl.doubtnut.com/l/_52UspjCR35FR


39. How many hour are required for a current of  ampere to

decompose  water?

A. 9 hrs

B. 12 hrs

C. 18 hrs

D. 24 hrs

Answer: C

Watch Video Solution

3.0

18g

40. Cell-I containing a solution of mercuric percholarate ,

Cell -II containing a solution of mercuric nitrate  and Cell -

III containing a solution of mercurous percholorate  were

Hg(ClO4)2

Hg(NO3)2

Hg(ClO4)2

https://dl.doubtnut.com/l/_52UspjCR35FR
https://dl.doubtnut.com/l/_b8RYL8aZ2aGV
https://dl.doubtnut.com/l/_Wsc9O8IVvsAt


connected in such a way that the same current passed through each

of the cells. The amount of mercury deposited, will be same in ________.

A. all the cells

B. Cell-I and -II but more in cell -III

C. cells-II and III but more in cell-I

D. cells -I and -III but more in cell-II

Answer: B

Watch Video Solution

41. When electricity is passed through  and  solution ,

the ratio of mass of hydrogen and calcium liberated will be________. 

(Atomic mass of Ca = 40)

A. 

B. 

H2SO4 CaCl2

1: 5

1: 20

https://dl.doubtnut.com/l/_Wsc9O8IVvsAt
https://dl.doubtnut.com/l/_LCUm7BnvDRai


C. 

D. 

Answer: B

Watch Video Solution

1: 10

1: 40

42. Two electrolytic cells, one containing acidified ferrous sulphate

and other containing acidified ferric sulphate are connected in series.

The ratio of iron deposited at respective cathodes in the two cells will

be __________ respectively.

A. 

B. 

C. 

D. 

Answer: D

2: 1

2: 3

1: 1

3: 2

https://dl.doubtnut.com/l/_LCUm7BnvDRai
https://dl.doubtnut.com/l/_Jx1PAJbHJnPO


Watch Video Solution

43. An industry produced 40 Kg of calcium in two hours by

electrolysis .How much of aluminium will be produced by the same

current in two hours ? (Atomic mass : Ca=40, Al=27)

A. 9 kg

B. 22 kg

C. 27 Kg

D. 18 kg

Answer: D

Watch Video Solution

44. A salt bridge

https://dl.doubtnut.com/l/_Jx1PAJbHJnPO
https://dl.doubtnut.com/l/_2VFDDQFHsw3a
https://dl.doubtnut.com/l/_gBe1YVcqAQHh


A. complete the circuit

B. reduce the electrical resistance in the cell

C. separate cathode from anode

D. carry salts for the chemical reaction

Answer: A

Watch Video Solution

45. The cell reaction of the galvanic cell :

 is

A. 

B. 

C. 

D. 

Cu ( s )
∣
∣Cu

2 +
( aq )

∣
∣ ∣ Hg2 +

( aq )
∣
∣Hg ( l )

Hg + Cu2 + → Hg2 + + Cu

Hg + Cu2 + → Cu+ + Hg+

Cu+ + Hg → Cu + Hg+ 2

Cu + Hg2 + → Cu2 + + Hg

https://dl.doubtnut.com/l/_gBe1YVcqAQHh
https://dl.doubtnut.com/l/_vxRBDrtZSsre


Answer: D

Watch Video Solution

46. for the electrochemical cell: 

. 

The overall cell reaction is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Ag|AgCl(s)|KCl(aq) ∣ |AgNO3(aq)|Ag

Ag+ + Kcl → AgCl ( s ) + K +

Ag + AgCl → 2Ag + Cl2
1

2

AgCl ( s ) → Ag+ + Cl−

Ag+ + Cl− → AgCl ( s )

https://dl.doubtnut.com/l/_vxRBDrtZSsre
https://dl.doubtnut.com/l/_K83IxW8FNqy9


47. The reaction, .

Occurs in the galvanic cell :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2(g) + AgCl(s)H + (aq) + Cl− (aq) + Ag(s)
1

2

Ag∣∣AgCl ( s ) ∣∣KCl ( so ln ) ||AgNO3 ( so ln ) ∣ Ag

Pt∣∣H2 ( g ) ∣∣HCl(soln)||AgNO3 ( soln ) ∣ Ag

Pt∣∣H2 ( g ) ∣∣HCl ( so ln ) ||AgCl ( s ) ∣ Ag

Pt∣∣H2 ( g ) ∣∣KCl ( so ln ) ||AgCl ( s ) ∣ Ag

48. The passage of electricity in the Daniell cell when Zn and Cu

electrodes are connected is from :

A. Cu and Zn within the cell

B. Zn and Cu within the cell

https://dl.doubtnut.com/l/_DzGmdMFHs4jK
https://dl.doubtnut.com/l/_OM3mI44n949I


C. Cu and Zn outside the cell

D. Zn and Cu outside the cell

Answer: C

Watch Video Solution

49. The initial cell potential of Daniel cell is __________

A. 0.5 V

B. 1.1 V

C. 1.6 V

D. 2.1 V

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_OM3mI44n949I
https://dl.doubtnut.com/l/_LBMIRtGC2srF
https://dl.doubtnut.com/l/_WjXoISP3JH0J


50. In the representation of galvanic cells, a double vertical line

between two solutions indicates_________.

A. direct contact between them

B. that they are connected by a salt bridge

C. the phase boundary

D. that there are two cells

Answer: B

Watch Video Solution

51. The standard oxidation potentials of Ze and Ag in water at 

are 

 


 


Which of the following reactions actually takes place ?

25∘C

Zn(s) → Zn2 + + 2e         [E ∘ = 0. 76V ]

Ag(s) → Ag+ + e        [E ∘ = − 0. 80V ]

https://dl.doubtnut.com/l/_WjXoISP3JH0J
https://dl.doubtnut.com/l/_Yw8N6XrUMhF4


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Zn ( s ) + 2Ag+
( aq )

→ Zn2 +
( aq )

+ 2Ag ( s )

Zn2 +
( aq )

+ 2Ag ( s ) → 2Ag+
( aq )

+ Zn ( s )

Zn ( s ) + Ag ( s ) → Zn2 +
( aq )

+ Ag+
( aq )

Zn2 +
( aq )

+ Ag+
( aq )

→ Zn ( s ) + Ag ( s )

52. Which is the CORRECT Nernst equation for reaction taking place

in the following cell ? 

A. 

B. 

C. 

D. 

Mg ( s ) ∣∣Mg2 +
( aq )

∣
∣
∣
∣Cl

−
( aq )

∣
∣Cl2 ( g ) (1atm)∣

∣Pt

Ecell = E ∘
cell

− × log
0.0592

2

[Cl− ]
2 −

[Mg2 + ]

Ecell = E ∘
cell

− × log
0.0592

2

[Mg2 + ]

[Cl− ]

Ecell = E ∘
cell

− × log[Mg2 + ][Cl− ]
0.0592

2

Ecell = E ∘
cell − × log

0.0592

2

[Mg2 + ]

[Cl− ]
2

https://dl.doubtnut.com/l/_Yw8N6XrUMhF4
https://dl.doubtnut.com/l/_nvWFkBVsxnTv


Answer: C

Watch Video Solution

53. Silver-silver chloride electrode is a _________.

A. metal-metal ions

B. metal-sparingly soluble salt

C. gas does not obey Ohm's law whereas solution does

D. redox

Answer: B

Watch Video Solution

54. A huydrgen electrode is dipped is a solution of  at 

The potential fo the cell will be .

pH = 3.0 25∘C

https://dl.doubtnut.com/l/_nvWFkBVsxnTv
https://dl.doubtnut.com/l/_NQfnC49QOvtF
https://dl.doubtnut.com/l/_pqGMW5BJnkt9


A. 0.177 V

B. 

C. 0.087 V

D. 0.059 V

Answer: B

Watch Video Solution

−0.177V

55. Calculate the half-cell potential at 298 K for the reaction, 

 


If  and  volt.

A. 0.789 V

B. 

C. 

D. 0.698 V

Zn2 + + 2e− → Zn

[Zn2 + ] = 0.1M E ∘ = − 0.76

−0.789V

−0.698V

https://dl.doubtnut.com/l/_pqGMW5BJnkt9
https://dl.doubtnut.com/l/_ruBMibK4cNVw


Answer: B

Watch Video Solution

56. If the  and  concentrations are 0.1 M and  M

respectively at  , the potential of the cell containing 

and  electrodes is ___________. 


[Given 

A. 0.864 V

B. 

C. 1.33 V

D. 1.10 V

Answer: A

Watch Video Solution

Zn2 + Cu2 + 10− 9

25∘C Zn/Zn2 +

Cu/Cu2 +

E ∘
Zn/Zn2 + = + 0.76, E ∘

Cu /Cu2 + = − 0.34V ]

−0.864V

https://dl.doubtnut.com/l/_ruBMibK4cNVw
https://dl.doubtnut.com/l/_t6BrAAfex9YF
https://dl.doubtnut.com/l/_v9e775jVhFnD


57. In the Daniel cell, if the concentrations of  and  ions

are doubled at 298 K , the e.m.f. Of the cell __________.

A. is doubled

B. is reduced to half

C. remains same

D. becomes four times

Answer: C

Watch Video Solution

Zn2 + Cu2 +

58. The potential of the cell for the reaction,

' is 1.500 V. The

standard reduction potential for  / M(s) couple is :

A. 0.1470 V

M(s) + 2H + (1M) → H2(g)(1atm) + M 2 + (0.1m)

M 2 +

https://dl.doubtnut.com/l/_v9e775jVhFnD
https://dl.doubtnut.com/l/_r58qr9xYvX6r


B. 

C. 

D. 147 V

Answer: B

Watch Video Solution

−1.470V

14.70V

59. The standard cell potential of  cell is 1.10 V

. The maximum work obtained by this cell will be __________.

A. 106.15 Kj

B. 212.30 Kj

C. 318.45 Kj

D. 424.60 Kj

Answer: B

Zn∣
∣zn

2 +
( aq )

||Cu2 +
( aq )

∣
∣Cu

https://dl.doubtnut.com/l/_r58qr9xYvX6r
https://dl.doubtnut.com/l/_YSsDkum1MNit


Watch Video Solution

60. Calomel electrode is __________.

A. a non-metal metal ion electrodes

B. used as a secondary reference electrode

C. having zero potential at all preference

D. always used as a cathode

Answer: B

Watch Video Solution

61. In the dry cell , _________.

A. the graphite rod is anode

B. the ammonia gas accumulates in the cell during its working

https://dl.doubtnut.com/l/_YSsDkum1MNit
https://dl.doubtnut.com/l/_eEX1MQT5hPnC
https://dl.doubtnut.com/l/_rdwJJVUEaEM0


C. the Zn vessel is a negative terminal

D. the cell reaction involves the complex formation of Zn with

Answer: C

Watch Video Solution

MnO2

62. In dry cell , reaction which takes place at the anode is __________.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Zn2 + + 2e− → Zn ( s )

Zn ( s ) → Zn2 + + 2e−

Mn2 + + 2e− → Mn ( s )

Mn ( s ) → Mn+ + e−

https://dl.doubtnut.com/l/_rdwJJVUEaEM0
https://dl.doubtnut.com/l/_RuY80V6B6W5f


63. During the use of lead storage battery, _________.

A.  is consumed

B.  is consumed

C.  is formed

D. Pb is formed

Answer: B

Watch Video Solution

PbSO4

H2SO4

SO2

64. Which of the following is the reduction half-reaction for a lead

storage battery ?

A. 

B. 

PbO2 ( s ) + H2SO4 + 2H + + 2e− → PbSO4 ( s ) + 2H2O

Pb ( s ) + H2SO4 → PbSO4 ( s ) + 2H + + 2e−

https://dl.doubtnut.com/l/_RuY80V6B6W5f
https://dl.doubtnut.com/l/_KO8Kg3hfEeSy
https://dl.doubtnut.com/l/_6UEwxEjqS85c


C. 

D. 

Answer: A

Watch Video Solution

Pb ( s ) + PbO2 ( s ) + H2SO4 ( s ) → 2PbSO4 ( s ) + 2H2O

2PbSO4 ( s ) + 2H2O → Pb ( s ) + PbO2 ( s ) + 2H2SO4

65. During recharging of lead storage cell , __________.

A. external e.m.f. is greater than e.m.f. of the cell

B. external e.m.f. is equal to e.m.f. of the cell

C. external e.m.f. is less than e.m.f. of the cell

D. external e.m.f. is negligible

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_6UEwxEjqS85c
https://dl.doubtnut.com/l/_YAVfDTsKEEG0
https://dl.doubtnut.com/l/_XDutjVOErZKp


66. In  fuel cell the electrodes are made up of __________.

A. graphite

B. porous graphite

C. metallic zinc strip

D. metallic copper strip

Answer: B

Watch Video Solution

H2 − O2

67. Which of the following is WRONG regarding fuel cell ?

A. They function due to combustion reaction

B. They are different

C. They cause no pollution

D. They cannot work continuously

https://dl.doubtnut.com/l/_XDutjVOErZKp
https://dl.doubtnut.com/l/_2I8gmUiCPJWy


Answer: D

Watch Video Solution

68. If the half-cell reaction  has a large negative

reduction potentials, it follows that:

A. A is readily reduced

B. A is readily oxidised

C. A is readily reduced

D. A is readily oxidised

Answer: D

Watch Video Solution

A + e− → A−

https://dl.doubtnut.com/l/_2I8gmUiCPJWy
https://dl.doubtnut.com/l/_Hb5ZQS4Pug4a


69. Li, Ca and K metals can be arranged in the decreasing order of

their standard reduction potentials as __________.

A. Ca , K , Li

B. Li , Ca , K

C. K , Ca ,Li

D. Li , K , Ca

Answer: A

Watch Video Solution

70. When a piece of copper is placed in an aqueous solution of silver

nitrate , the colour of the solution becomes blue. This is due to

________.

A. oxidation of Ag

https://dl.doubtnut.com/l/_oEC85szP2ykA
https://dl.doubtnut.com/l/_0b7hjqVwJBIY


B. reduction of Cu

C. formation of a complex

D. oxidation of Cu

Answer: D

Watch Video Solution

71. An aqueous solutions of which of the following metal ions can

oxidize hydrogen ?

A.  and 

B.  and 

C.  and 

D.  and 

Answer: C

Mg+ Cr+

Na+ Al3 +

Ag+ Cu2 +

Zn2 + Hg2 +

https://dl.doubtnut.com/l/_0b7hjqVwJBIY
https://dl.doubtnut.com/l/_F9N68ciTPscv


Watch Video Solution

72. The standard reduction potentials of ,  and 

are  respectively. Which of the

following reactions is spontaneous ?

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

A+ /A B+ /B C + /C

+3.03V , − 0.70V and − 0.42V

A+ + B → A + B+

C + + A → C + A+

B+ + A → B + A+

B + C → B + C +

73. The rusting of iron is catalysed by which of the following ?

https://dl.doubtnut.com/l/_F9N68ciTPscv
https://dl.doubtnut.com/l/_3E60U3TV00KB
https://dl.doubtnut.com/l/_PSoN3X26DJkU


A. fe

B. 

C. Zn

D. 

Answer: D

Watch Video Solution

O2

H +

74. Corrosion of iron is essentially an electrochemical phenomenon

where the cell reactions are __________.

A. Fe is oxidised to  and dissolved oxygen in water is

reduced to 

B. Fe is oxidised to  and  is reduced to 

C. Fe is oxidised to  jand  is reduced to 

D. Fe is oxidised to  and  id reduced to 

Fe2 +

H2O

Fe3 + H2O O2 −
2

Fe2 + H2O O2

Fe2 + H2O O2

https://dl.doubtnut.com/l/_PSoN3X26DJkU
https://dl.doubtnut.com/l/_rtuX4NpiQUIr


Answer: A

View Text Solution

75. Zinc is used to protect iron from rusting because __________.

A. zinc is stronger oxidizing agent than Fe

B. Zinc protect Fe from being oxidised

C. zinc does not melt easily

D. zinc is cheap

Answer: B

View Text Solution

76. The cost of electricity required to deposit 1 g of Mg is Rs 3.00. The

cost to deposit 8 g of Al is __________. )At. Mass Al = 27 , Mg = 24)

https://dl.doubtnut.com/l/_rtuX4NpiQUIr
https://dl.doubtnut.com/l/_HHjfjFcZY2vL
https://dl.doubtnut.com/l/_c5PF7xItOuY8


Competitive Thinking

A. Rs 12.00

B. Rs 24.00

C. Rs 32.00

D. Rs 42.50

Answer: C

View Text Solution

1. Which of the following statements is NOT applicable to electrolytic

conductors ?

A. New products show up at the electrodes

B. Ions are responsible for carrying the current.

C. Show a positive temperature coefficient for conductance.

https://dl.doubtnut.com/l/_c5PF7xItOuY8
https://dl.doubtnut.com/l/_2J7jafuolUUl


D. A single stream of electrons flows from cathode to anode

Answer: D

View Text Solution

2. Which of the following statement is INCORRECT with respect to

metallic or electronic cinductivity ?

A. Metallic conductivity depends on the structure of metal and its

characteristics.

B. Metallic conductivity depends on the number of electrons in

the valence shell ofatom of metal.

C. The electrical conductivity of metal increases with increase in

temperature.

D. There is no change in the structure of metal during electrical

conduction.

https://dl.doubtnut.com/l/_2J7jafuolUUl
https://dl.doubtnut.com/l/_xB4SxeFs7iUx


Answer: C

View Text Solution

3. Aqueous solution of which of the following compounds is the best

conductor ofelectric current ?

A. Ammonia, 

B. Fructose, 

C. Acetic acid , 

D. Hydrochloric acid , HCl

Answer: D

View Text Solution

NH3

C6H12O6

C2H4O2

4. What is the SI unit of conductivity?

https://dl.doubtnut.com/l/_xB4SxeFs7iUx
https://dl.doubtnut.com/l/_E1GPKPgctSPK
https://dl.doubtnut.com/l/_T8dfJXbiIVo4


A. S m

B. 

C. 

D. 

Answer: B

Watch Video Solution

Sm− 1

Sm2

Sm− 2

5. How is electrical conductance of a conductor related with length

and area of cross section of the conductor ?

A. 

B. 

C. 

D. 

G = l. a. κ− 1

G = κ. l. a− 1

G = κ. a. l− 1

G = κ. l. a− 2

https://dl.doubtnut.com/l/_T8dfJXbiIVo4
https://dl.doubtnut.com/l/_rgsm9uvWyzmm


Answer: C

Watch Video Solution

6. The molar conductivity is maximum for the solution of

concentration __________.

A. 0.001 M

B. 0.005 M

C. 0.002 M

D. 0.004 M

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_rgsm9uvWyzmm
https://dl.doubtnut.com/l/_CSOM1vvQtiHY


7. The highest electrical conductivity of the following aqueous

solutions is of

A. 0.1 M acetic acid

B. 0.1 M chloroacetic acid

C. 0.1 M fluoroacetic acid

D. 0.1 M difluoroacetic acid

Answer: D

Watch Video Solution

8. Conductivity of 0.01 M NaCI solution is 0.00147  what

happens to this conductivity if extra 100 mL of  will be added to

the above solution ?

A. Increase

ohm − 1cm− 1

H2O

https://dl.doubtnut.com/l/_TcwD9zjCTXwe
https://dl.doubtnut.com/l/_i0tslFrW0dTd


B. decreases

C. Remains unchanged

D. First increases and then decreases

Answer: B

Watch Video Solution

9. Which among the following solution is not used in deterination of

the cell constant ?

A.  KCl

B.  KCl

C. 1 M KCl

D. Saturated KCL

Answer: D

10− 2M

10− 1M

https://dl.doubtnut.com/l/_i0tslFrW0dTd
https://dl.doubtnut.com/l/_OjZQAEsw9lmY


Watch Video Solution

10. The limiting molar conductivities  for NaCl , KBr , and KCl are

126 , 152 and 150  respectively. The  for NaBr_________.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∧∘

Scm2mol− 1 ∧∘

278Scm2mol− 1

176Scm2mol− 1

128Scm2mol− 1

302Scm2mol− 1

11. The conductivity of  KCl solution is 

. What is its molar conductivity (in ) ?

0.1molL− 1 1.41 × 10− 3Scm− 1

Scm2mol− 1

https://dl.doubtnut.com/l/_OjZQAEsw9lmY
https://dl.doubtnut.com/l/_gBr7aLTqw4mA
https://dl.doubtnut.com/l/_TFH6NOVnllJ8


A. 14.1

B. 1.41

C. 1410

D. 141

Answer: A

Watch Video Solution

12. The molar conductivity of a  solution of  with

electrolytic conductivity of  at  is

A. 

B. 

C. 

D. 

0.5mol/dm3 AgNO3

5.76 × 10− 3Scm− 1 298K

28.8Scm2 /mol

2.88Scm2 /mol

11.52Scm2 /mol

0.086Scm2 /mol

https://dl.doubtnut.com/l/_TFH6NOVnllJ8
https://dl.doubtnut.com/l/_riaiEET4OOsz


Answer: C

Watch Video Solution

13. Resistance of  solution of an electrolue is . The specific

conductance of the solution is . The resistance of 

M solution of the same electrolyte is . The molar conducitivity

of  solution of the electrolyte is  is.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

0.2M 50Ω

1.4Sm ∧ ( − 1) 0.5

280. Ω

0.5M Sm2mol − 1

5 × 10− 4

5 × 10− 3

5 × 103

5 × 102

https://dl.doubtnut.com/l/_riaiEET4OOsz
https://dl.doubtnut.com/l/_bgRJTf8z27GK
https://dl.doubtnut.com/l/_dOTM28UP9xuM


14. At  , the molar conductance of 0.007 M hydrofluoric acid is

150  and . The value of the

dissociation constant of the acid at the given concentration at 

is _________.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

25∘C

mhocm2mol− 1 ∧∘ = 500mhocm2mol− 1

25∘C

7 × 10− 4

7 × 10− 5

9 × 10− 3

9 × 10− 4

15.  which of the following reaction occurs

at the +ve electrode ?

A. 

Cd∣∣Cd
+ 2||Fe+ 3, Fe+ 2∣∣Pt

Fe+ 3 + e− → Fe+ 2

https://dl.doubtnut.com/l/_dOTM28UP9xuM
https://dl.doubtnut.com/l/_gK9G4394k2hB


B. 

C. 

D. 

Answer: A

View Text Solution

Fe → Fe2 + + 2e−

Fe2 + + e− → Fe+

Cd → Cd2 + + 2e−

16. The overall reaction taking place at anode during eelctrolysis of

fused sodium chloride using suitable electrode is

A. oxidation of chloride

B. reduction of sodium ions

C. reduction of chlorine

D. oxidation of sodium atoms

Answer: A

https://dl.doubtnut.com/l/_gK9G4394k2hB
https://dl.doubtnut.com/l/_NfQgxAJB1nGc


Watch Video Solution

17. What products are formed during the electrolysis of a

concentrated aqueous solution of NaCl?

A. turns red litmus into blue

B. turns blue litmus into red

C. remains colourless with phenolphthalein

D. the colour of red or blue litmus does not change

Answer: A

Watch Video Solution

18. The metal that cannot obtained by electrolysis of an aqueous

solution of its salts is :

https://dl.doubtnut.com/l/_NfQgxAJB1nGc
https://dl.doubtnut.com/l/_JCevFSQ5XnNM
https://dl.doubtnut.com/l/_rWI5xtTG9EJ0


A. Ag

B. Ca

C. Cu

D. Cr

Answer: B

Watch Video Solution

19. According to Faraday's first law

A. 

B. 

C. 

D. 

Answer: A

W =
E × I × t

96500

E =
I × t × 96500

W

W =
96500 × E

I × t

E =
I × W

t × 96500

https://dl.doubtnut.com/l/_rWI5xtTG9EJ0
https://dl.doubtnut.com/l/_DVxaYd5xfT5f


Watch Video Solution

20. How may coulombs of electricity are required for the oxidation of

one mol of water to dioxygen ?

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

9.65 × 104C

1.93 × 104C

1.93 × 105C

19.3 × 105C

21. How many Faradays of electricity are required to deposit 10 g of

calcium from molten calcium chloride using inert electrodes ? 

( molar mass of calcium = )40gmol− 1

https://dl.doubtnut.com/l/_DVxaYd5xfT5f
https://dl.doubtnut.com/l/_LunJtxQqFtke
https://dl.doubtnut.com/l/_d7uGaIIAG6LS


A. 0.5 F

B. 1F

C. 0.25 F

D. 2 F

Answer: A

Watch Video Solution

22. Number of Faraday's required to deposit 4 g of  is _________.

A. 2

B. 7

C. 96500

D. 4

Answer: D

H2

https://dl.doubtnut.com/l/_d7uGaIIAG6LS
https://dl.doubtnut.com/l/_ULh9myzupXU3


Watch Video Solution

23. The number of moles of electrons passed when current of 2 A is

passed through an solution of electrolyte for 20 minutes is ___________.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

4.1 × 10− 4  mol e−

1.24 × 10− 2  mol e−

2.487 × 10− 2  mol e−

2.487 × 10− 1  mol e−

24. Aluminium oxide may be electrolysed at C to furnish

aluminium metal (Atomic mass = 27 amu, 1 Faraday = 96500 Coulomb).

1000∘

https://dl.doubtnut.com/l/_ULh9myzupXU3
https://dl.doubtnut.com/l/_63KxPMsgT9iO
https://dl.doubtnut.com/l/_KlzUJGw7Yuge


The cathode reaction is . To prepare 5.12 kg of

aluminium metal by this method would require:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Al3 + + 3e− → Al

5.49 × 107C

1.83 × 107C

5.49 × 104C

5.49 × 101C

25. When, during electrolysis of a solution of  colombs of

charge pass through the electroplating path, the mass of silver

deposited on the cathode will be:

A. 1.08 g

B. 10.8 g

AgNO39650

https://dl.doubtnut.com/l/_KlzUJGw7Yuge
https://dl.doubtnut.com/l/_9TsZDOXz6G2D


C. 21.6 g

D. 108g

Answer: B

Watch Video Solution

26. The quantity of electricity required to electrolyse separately 1 M

aqueous solution of  competely is in the

ratio of -

A. 

B. 

C. 

D. 

Answer: A

W t h Vid S l ti

ZnSO4, AlCl3 and AgNO3

2: 3: 1

2: 1: 1

2: 1: 3

2: 2: 1

https://dl.doubtnut.com/l/_9TsZDOXz6G2D
https://dl.doubtnut.com/l/_tiEEJqsCeOYm


Watch Video Solution

27. When one coulomb of charge is passed the quantity of silver

deposited is _________.

A. 1 g of silver

B. 0.1 gram atom of silver

C. 2 electrochemical of silver

D. 1 chemical equivalent of silver

Answer: C

View Text Solution

28. If 9650 coulombs of electricity is passed through a copper

sulphate solution , the number of moles of copper deposited will be

_________.

https://dl.doubtnut.com/l/_tiEEJqsCeOYm
https://dl.doubtnut.com/l/_URDOzzprpm4J
https://dl.doubtnut.com/l/_Q2WXmXngOQ9r


A. 0.05

B. 0.01

C. 2

D. 3.15

Answer: A

View Text Solution

29. During the electrolysis of molten sodium chloride, the time

required to produce  of chlorine gas using a current of 

amperes is

A. 330 minutes

B. 55 minutes

C. 110 minutes

D. 220 minutes

0.10mol 3

https://dl.doubtnut.com/l/_Q2WXmXngOQ9r
https://dl.doubtnut.com/l/_Pr4bEtpi8Woa


Answer: C

Watch Video Solution

30. When 1 F of electricity is passed through acidulated water 

evolved is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

O2

11.2dm3

5.6dm3

22.4dm3

1.0dm3

https://dl.doubtnut.com/l/_Pr4bEtpi8Woa
https://dl.doubtnut.com/l/_Nvsjx3hFcnWu


31. A current of 10 amperes is passed through acidulated water for 80

minutes . The volume of hydrogen gas liberated is ___________.

A. 22.4 L

B. 11.14 L

C. 5.6 L

D. 2.78L

Answer: C

Watch Video Solution

32. The amount of silver deposited by passing  of current

through silver nitrated solution is .

A. 2.7 g

B. 2.7 mg

241. 25C

https://dl.doubtnut.com/l/_NfIXpGLFqv6D
https://dl.doubtnut.com/l/_ukql7grPKtK6


C. 0.27 g

D. 0.54 g

Answer: C

Watch Video Solution

33. The atomic weight of Fe is 56. The weight of Fe deposited from

 solution by passing 0.6 Faraday of electricity is _________.

A. 5.6 g

B. 11.2 g

C. 22.4 g

D. 33.6 g

Answer: B

Watch Video Solution

FeCl3

https://dl.doubtnut.com/l/_ukql7grPKtK6
https://dl.doubtnut.com/l/_QOTvxJU8CfzY


34. If  amp current is passed through acidified silver nitrate

solution for  minutes. The mass of silver deposited on cathode, is

(eq. wt. of silver nitrate = ).

A. 0.235 g

B. 0.336 g

C. 0.536 g

D. 0.636 g

Answer: B

Watch Video Solution

0.5

10

108

35. During electrolysis of molten  0.005 A current is passed

through the cell for 200 s. The mass of product formed at cathode

(molar mass of Ca =40 ) will be__________.

CaCl2

gmol− 1

https://dl.doubtnut.com/l/_QOTvxJU8CfzY
https://dl.doubtnut.com/l/_VDJQMA4WHGwk
https://dl.doubtnut.com/l/_arJ0TQk5VzPN


A. 0.0002073 g of Ca

B. 0.0004145 g of Ca

C. 0.0003678 g of 

D. 0.0007357g of 

Answer: A

Watch Video Solution

Cl2

Cl2

36. Electrolysis of dilute aqueous NaCl solution was carried out by

passing 10 milli ampere current. The time required to liberate 0.01

mol of  gas at the cathode is (1 Faraday=96500 C )

A. 

B. 

C. 

D. 

H2 mol − 1

9.65 × 104s

19.3 × 104s

28.95 × 104s

38.6 × 104s

https://dl.doubtnut.com/l/_arJ0TQk5VzPN
https://dl.doubtnut.com/l/_w77LrJ2gIiIL


Answer: B

Watch Video Solution

37. Two Faraday of electricity is passed through a solution of .

The mass of copper deposited at the cathode is (at. Mass of Cu=63.5u)

A. 0 g

B. 63.5 g

C. 2 g

D. 127 g

Answer: B

Watch Video Solution

CuSO4

https://dl.doubtnut.com/l/_w77LrJ2gIiIL
https://dl.doubtnut.com/l/_onqjinkMA51d


38. The number of electrons required to reduce  g of 

is :

A. 3

B. 

C. 

D. 

Answer: C

Watch Video Solution

4.5 × 10– 5 Al+ 3

5.01 × 106

3.0 × 1018

1.8 × 1020

39. 20 mL solution of 0.1 M ferrous suplhate was completely oxidised

using a suitable oxidising agent what is the number of electronic

exchanged ?

A. 1.204 × 1022

https://dl.doubtnut.com/l/_vbvOrEV8s3N6
https://dl.doubtnut.com/l/_chcJPyK3afnu


B. 193

C. 1930

D. 

Answer: D

Watch Video Solution

1.204 × 1021

40. The number of electrons delivered at the cathode during

electrolysis by a current of  ampere in 60 seconds is (charger on

electron )

A. 

B. 

C. 

D. 

1

= 1.60 × 10− 19C

7.48 × 1023

6 × 1023

6 × 1020

3.75 × 1020

https://dl.doubtnut.com/l/_chcJPyK3afnu
https://dl.doubtnut.com/l/_JFm5tyvYHmUu


Answer: D

Watch Video Solution

41. When 0.5 amp of current was passed for 200 seconds, 0.34 gm of

copper was deposited , the electrochemical equivalent of copper will

be ____________.

A. 34

B. 3.4

C. 0.034

D. 0.0034

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_JFm5tyvYHmUu
https://dl.doubtnut.com/l/_0RKJxqpBCHVr


42. Copper is a divalent metal . The value of its electrochemical

equivalent is  g. Its atomic mass is

A. 63.5

B. 31.74

C. 15.87

D. Data insufficient

Answer: A

Watch Video Solution

3.29 × 10− 4

43. The weight of silver (at ) displaced by a quantity of

electricity which displaced  of  at  will be:

A. 5.4 g

B. 10.8 g

wt. = 108

5600mL O2 STP

https://dl.doubtnut.com/l/_mOZVvwyU5rAs
https://dl.doubtnut.com/l/_DVPOTHu5qzoZ


C. 54.0 g

D. 108.0 g

Answer: D

Watch Video Solution

44. Same amount od electricity is passed through solutions of

ferrous chloride and ferric chloride. Ratio of weight of iron deposited

in the two solutions is _________.

A. 

B. 

C. 

D. 

Answer: C

W t h Vid S l ti

1: 2

2: 3

3: 2

1: 1

https://dl.doubtnut.com/l/_DVPOTHu5qzoZ
https://dl.doubtnut.com/l/_eyGfDYvO7lpI


Watch Video Solution

45. When same quantity of electricity is passed for half an hour, the

amount of Cu and Cr deposited are respectivley 0.375g and 0.30g.

Radio of electrochemical equivalents of Cu and Cr is

A. 0.8

B. 1.25

C. 2.5

D. 1.62

Answer: B

Watch Video Solution

46. Two electrolytic cells containing molten solutions of nickel

chloride and aluminium chloride are connected in series. If same

https://dl.doubtnut.com/l/_eyGfDYvO7lpI
https://dl.doubtnut.com/l/_HNkF5H2A7k3T
https://dl.doubtnut.com/l/_jXTvRXXZZlsR


amount of electric current is passed through them, what will be the

weight of nickel obtained when 18 g of aluminium is obtained ? 

( Al =  , Ni =  )

A. 58.5 g

B. 117 g

C. 29.25 g

D. 5.85 g

Answer: A

Watch Video Solution

27gmol− 1 58.5gmol− 1

47. In the cell represented by 

 the reducing agent is

A. Pb

B. 

Pb(s)∣∣Pb
2 + (1M)∣∣∣∣Ag

+ (1M)∣∣Ag(s)

Pb2 +

https://dl.doubtnut.com/l/_jXTvRXXZZlsR
https://dl.doubtnut.com/l/_dpWOtYo4SdhY


C. Ag

D. 

Answer: A

Watch Video Solution

Ag+

48. De-electronation process in Nernst theory means _________.

A. cathodic reaction

B. anodic reaction

C. cathodic oxidation

D. anodic oxidation

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_dpWOtYo4SdhY
https://dl.doubtnut.com/l/_rR9PbR6EEstp
https://dl.doubtnut.com/l/_7SQ80ctzX5LT


49. The electrode where de-electronation takes place acts as _________.

A. anode

B. cathode

C.  electrode

D. both (B) and (C)

Answer: A

Watch Video Solution

+ve

50. Standard electrode potential for  couple is 

and that for the  couple is . These two couples in

their standard state are connected to make a cell. The cell potential

will be

A. 

Sn4 + /Sn2 + 0.15V

Cr3 + /Cr −0.74V

+1.83V

https://dl.doubtnut.com/l/_7SQ80ctzX5LT
https://dl.doubtnut.com/l/_GVYPNB8goHFf


B. 

C. 

D. 

Answer: C

Watch Video Solution

+1.19V

+0.89V

+0.18V

51. Given below are half-cell reactions

A. , the reaction will not occur

B.  , the reaction will occur

C. , the reacton will not occur

D. , the reaction will occur

Answer: A

View Text Solution

2.69V

−2.69V

−0.33V

−0.33V

https://dl.doubtnut.com/l/_GVYPNB8goHFf
https://dl.doubtnut.com/l/_FXh7tYEiBOug


52. The cell reaction of a cell is 

 

(Given ) 


The e.m.f of the cell will be _________.

A. 

B. 2.7 V

C. 

D. 

Answer: B

View Text Solution

Mg + Cu2 + → Mg2 + + Cu

EMg2 + /Mg = − 2.37V , ECu2 + /Cu = 0.337V

−2.7V

−2.03V

+2.03V

53. Standard reduction potential of  and 

electrodes are 1.5 V and 0.15 V respectively. The net reaction is

Au3 + /Au Sn4 + /Sn2 +

https://dl.doubtnut.com/l/_FXh7tYEiBOug
https://dl.doubtnut.com/l/_F8txAOqHqehL
https://dl.doubtnut.com/l/_UgFBoNScZieL


__________.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Sn4 + + Au3 + → Sn2 + + Au

Sn2 + + Au → Sn4 + + Au3 +

Sn4 + + Au → Sn2 + + Au3 +

Sn2 + + Au3 + → Sn4 + + Au

54. The e.m.f of galvanic cell , with oxidation potentials of Zn =

 and that of  , is ________.

A. 

B. 

C. 

+0.76V Cu = − 0.34V

−1.1V

+1.1V

+0.345V

https://dl.doubtnut.com/l/_UgFBoNScZieL
https://dl.doubtnut.com/l/_PnyCRkwE85HK


D. 

Answer: B

Watch Video Solution

+0.76V

55. The  value for  is __________. 

A. 0.0 V

B. 

C. 0.799 V

D. 0.399 V

Answer: C

Watch Video Solution

E ∘
cell

Pt, H2∣∣H + ∣∣ ∣ Ag+ ∣∣Ag

[E ∘
Ag /Ag + = − 0.799V ]

−0.799V

https://dl.doubtnut.com/l/_PnyCRkwE85HK
https://dl.doubtnut.com/l/_W6A89Wr3MGhc
https://dl.doubtnut.com/l/_qfY00kOWYxpL


56. In the cell  Zn electrode is

replaced by Cu electrode. The cell potential will ____________.

A. increases

B. decreases

C. remain the same

D. become double

Answer: B

View Text Solution

Zn∣∣Zn
2 + (1M)∣∣∣∣H

+ (1M)∣∣H2 ( g ) ∣ Pt

57. The e.m.f of the following cell, 

 is 0.769 Volts. The

reduction potential of Zn electrode will be_________.

A. 0.769 V

B. 

Zn|ZnSO4(1M)|∣∣H + (1M)∣∣H2 ( g ) 1atm ∣ Pt

−0.769V

https://dl.doubtnut.com/l/_qfY00kOWYxpL
https://dl.doubtnut.com/l/_PTLCCM9fGqj4


C. zero volt

D. none of these

Answer: B

View Text Solution

58. For the electrochemicl cell, 

and  


From this data one can deduce that :

A.  is the spontaneous reaction

B.  is the spontaneous reaction

C. 

D. 

Answer: B

W t h Vid S l ti

M∣∣M + ∣∣∣∣X − ∣∣XE ∘
(M + /M )

= 0.44V

E ∘
(X /X − )

= 0.33V

M + X → M + + X −

M + + X − → M + X

Ecell = 0.77V

Ecell = − 0.77V

https://dl.doubtnut.com/l/_PTLCCM9fGqj4
https://dl.doubtnut.com/l/_imkD0cpnHRyF


Watch Video Solution

59. At temperature of 298 K , the e.m.f. of the following

electrochemical cell 

 will be ___________. (Given 

)

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

Ag ( s ) ∣∣Ag+ (0.1M)∣∣∣∣Zn
2 + (0.1M)∣∣Zn ( s )

E ∘
cell

= − 1.562V

−1.532V

−1.503V

1.532V

−3.06V

https://dl.doubtnut.com/l/_imkD0cpnHRyF
https://dl.doubtnut.com/l/_WSCkGuWGhByR


60. In the electrochemical cell: 

 


The EMF of this Daniel cell is . When the concentration of 

is changed to 1.0(M) and that of  changed to 0.01(M), the EMF

changes to . From the following which one is the relationship

between -

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Zn|ZnSO4(0.01M)||CuSO4(1.0M)|Cu

E1 ZnSO4

CuSO4

E2

E1 and E2  (Given, = 0.059)
RT

F

E1 < E2

E1 > E2

E2 = 0 ≠ E1

E1 = E2

https://dl.doubtnut.com/l/_sQOD4DjgD9DG


61. Standard electrode potentials are 

 


 


If , and Fe block are kept together, then

A. increase in 

B. decrease in 

C. no change in the ratio of 

D. decrease in 

Answer: B

Watch Video Solution

Fe2 + /Fe, E ∘ = − 0.44V

Fe3 + /Fe2 + , E ∘ = + 0.77V

Fe3 + , Fe2 +

Fe3 +

Fe3 +

Fe2 +

Fe3 +

Fe2 +

62. Nernst equation for  is 

=__________.

Zn2 +
( aq )

+ 2e− → Zn ( s ) EZn2 + /Zn

https://dl.doubtnut.com/l/_iuAfz7D4SYyz
https://dl.doubtnut.com/l/_2HOhcocwYkgP


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

E ∘
(Zn2 + /Zn )

+ log10[Zn
2 + ]

2.303RT

2F

E ∘
(Zn2 + /Zn )

− log10[Zn
2 + ]

2.303RT

2F

E ∘
(Zn/Zn2 +

□ )
+ log10[Zn

2 + ]
2.303RT

2F

E ∘
(Zn/Zn2 +

□ )
− log10[Zn

2 + ]
2.303RT

2F

63. Given , and 


 


The potential for the cell. 

 is

A. 0.339 V

B. 

C. 

E ∘
Cr3 + /Cr

= − 0.72V

E ∘
Fe2 + /Fe

= − 0.42V

Cr∣∣Cr
3 + (0.1M)∣∣ ∣ Fe2 + (0. 01M)Fe

−0.339V

−0.26V

https://dl.doubtnut.com/l/_2HOhcocwYkgP
https://dl.doubtnut.com/l/_pC5cyicFfFfD


D. 0.26 V

Answer: D

Watch Video Solution

64. The cell , , 


Was allowed to be completely discharfed at . The relative

concentration of  to  is :

A. antilog (24.08)

B. 37.2

C. 

D. 

Answer: C

Watch Video Solution

Zn∣∣Zn
2 + (1M)∣∣ ∣ Cu2 + (1M)Cu(E ∘

cell
= 1. 10V )

298K

2 + Cu2 +[ ]
Zn2 =

Cu2 +

1037.2

9.65 × 104

https://dl.doubtnut.com/l/_pC5cyicFfFfD
https://dl.doubtnut.com/l/_Hmd9XoRuZ6yw


65. What will be the emf for the given cell ? 

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

Pt|H2(g, P1)|H + (aq)|H2(g, P2)|Pt

In
RT

F

P1

P2

In
RT

2F

P1

P2

In
RT

F

P2

P1

66. The reduction potential of hydrogen half cell will be negative if :

A.  M

B.  = 1.0 M

C. 

P (H2 ) = 1atm and [H + ] = 2.0

P (H2 ) = 1atm and [H + ]

P (H2 ) = 2atm and [H + ] = 1.0M

https://dl.doubtnut.com/l/_oZdO33noUUeA
https://dl.doubtnut.com/l/_UB3tzDoe71xK


D. 

Answer: C

Watch Video Solution

P (H2 ) = 2atm and [H + ] = 2.0M

67. The pressure of  required to make the potential of 

electrode zero in pure water at  is

A. atm

B.  atm

C.  atm

D.  atm

Answer: C

Watch Video Solution

H2 H2 −

298K

10− 10

10− 4

10− 14

10− 12

https://dl.doubtnut.com/l/_UB3tzDoe71xK
https://dl.doubtnut.com/l/_UgBjvWdvau5h
https://dl.doubtnut.com/l/_K4RdHD46GK9E


68. Consider the following cell reaction. 

 


 


At  atm and pH=3, the cell potential

at  is

A. 1.47 V

B. 1.77 V

C. 1.87 V

D. 1.57 V

Answer: D

Watch Video Solution

2Fe(s) + O2(g) + 4H + (aq) → 2Fe2 + (aq) + 2H2O(l),

E ∘ = 1.67V

[Fe2 + ] = 10− 3M, P (O2) = 0.1

25∘C

69. The Gibbs energy for the decomposition of  at  is as

follows: 

 


Al2O3 500∘C

Al2O3 → Al + O2, ΔrG = + 966kJmol− 12

3

4

3

https://dl.doubtnut.com/l/_K4RdHD46GK9E
https://dl.doubtnut.com/l/_c7GrSawteFyQ


The potential difference needed for electrolytic reeduction of 

at  is at least:

A. 5.0 V

B. 4.5 V

C. 3.0 V

D. 2.5 V

Answer: D

Watch Video Solution

Al2O3

500∘C

70. What is the potential for the cell 

 


, 


A. 

Cr∣∣Cr
3 + (0.1M)∣∣∣∣Fe

2 + (0.01M)∣∣Fe

E ∘Cr3 + /Cr = − 0.74V

E ∘Fe2 + /Fe = − 0.44V

−173.7KJ

https://dl.doubtnut.com/l/_c7GrSawteFyQ
https://dl.doubtnut.com/l/_cpzKaQ2ziRND


B. 

C. 

D. 

Answer: A

Watch Video Solution

−17.37KJ

−1, 737KJ

−0.1737KJ

71. For a spontaneous reaction the , equilibrium constant (K) and

 will be respectively

A. 

B. 

C. 

D. 

Answer: A

ΔG

E ∘
cell

−ve > 1, + ve

+ve, > 1, − ve

−ve, < 1, − ve

−ve, > 1, − ve

https://dl.doubtnut.com/l/_cpzKaQ2ziRND
https://dl.doubtnut.com/l/_I4mxMiA6NYNH


Watch Video Solution

72. What is the free energy change per mole of Cu(II) ion formed in a

cell consisting of Cu|Cu(II) ion half-cell suitably connected to a

 ion half-cell ? (Given: )

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Ag ∣ Ag+ E ∘ = 0.46V

−75KJ

−89KJ

−45KJ

−25kJ

73. If the  for a given reaction has a positive value, then which of

the following gives the correct relationship for the values of 

E ∘
cell

ΔG∘

https://dl.doubtnut.com/l/_I4mxMiA6NYNH
https://dl.doubtnut.com/l/_kXU15WiTrkhu
https://dl.doubtnut.com/l/_kdFCjTCz1wa4


and  :-

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Keq

ΔG∘ < 0, Keq < 1

ΔG∘ > 0, Keq < 1

ΔG∘ > 0, Keq > 1

ΔG∘ < 0, Keq > 1

74. The rusting of iron takes place as follows  

 


 


Calculae  for the net process.

A. 

B. 

:

2H ⊕ + 2e− + O2 → H2O(l),      Ec− = + 1.23V
1

2

Fe2 + + 2e− → Fe(s),      Ec− = − 0.44V

ΔGc−

−322KJmol− 1

−161KJmol− 1

https://dl.doubtnut.com/l/_kdFCjTCz1wa4
https://dl.doubtnut.com/l/_jnkHH4cimBIS


C. 

D. 

Answer: A

Watch Video Solution

−152KJmol−

−76KJmol− 1

75. For hydrogen oxygen fuel cell at atm and 298 K 

 


 for the cell is approximately (Gevien F=96500 C)

A. 2.48 V

B. 1.254 V

C. 2.5 V

D. 1.26 V

Answer: B

W t h Vid S l ti

H2g + O2(g) → H2O(l), △ G∘ = − 240KJ
1

2

E2

https://dl.doubtnut.com/l/_jnkHH4cimBIS
https://dl.doubtnut.com/l/_NNvTldmI2Dn8


Watch Video Solution

76. For a cell reaction involving a two-electron change, the standard

e.m.f. of the cell is found to be  at . The equilibrium

constant of the reaction at  will be:

A. 

B. 

C. 10

D. 

Answer: D

Watch Video Solution

0.295V 25∘C

25∘C

1 × 10− 10

29.5 × 10− 2

1 × 1010

77. The emf of the cell, 

 at 298 K is 0.2905 V then theZn∣∣Zn
2 + (0.01M)∣∣∣∣Fe

2 + (0.001M)∣∣Fe

https://dl.doubtnut.com/l/_NNvTldmI2Dn8
https://dl.doubtnut.com/l/_Sp32hPqPQb3l
https://dl.doubtnut.com/l/_qtwOpDa2IzNd


value of equilibrium constant for the cell reaction is :

A. 

B. 

C. 3.26 V

D. 

Answer: B

Watch Video Solution

e
0.32

0.0296

10
0.32

0.0296

10
0.320

0.0592

78. The standard  of a galvanic cell involving cell reaction with 

 is found to be  at  . The equilibrium constant of

the reaction would be

A. 

B. 

C. 

EMF

n = 2 0.295V 25∘C

2 × 1011

4 × 1012

1 × 102

https://dl.doubtnut.com/l/_qtwOpDa2IzNd
https://dl.doubtnut.com/l/_Zni5P8kffWy1


D. 

Answer: D

Watch Video Solution

1 × 1010

79. The platinised plate in SHE is used as __________.

A. oxidising agent

B. adsorbent

C. reducing agent

D. adsorbate

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_Zni5P8kffWy1
https://dl.doubtnut.com/l/_Lr8fZAhQfNdr


80. Standard hydrogen electrode __________.

A. is an indicator electrode

B. is a reference electrode

C. has a potential of 1 volt

D. none of these

Answer: B

Watch Video Solution

81. Calomel is __________.

A. 

B. 

C. 

D. HgO

HgCl2

Hg2Cl2

Hgl2

https://dl.doubtnut.com/l/_lSCD8nNf2TFi
https://dl.doubtnut.com/l/_YmHuI1yWnJQi


Answer: B

Watch Video Solution

82. Dry cell converts _________.

A. chemical energy into electrical energy

B. electrical energy into chemical energy

C. chemical energy into mechanical energy

D. electrical energy into mechanical energy

Answer: A

Watch Video Solution

83. In a dry cell, what acts as negative electrode ?

https://dl.doubtnut.com/l/_YmHuI1yWnJQi
https://dl.doubtnut.com/l/_7G75UGNczkVd
https://dl.doubtnut.com/l/_qqy6awmzQ7k7


A. Zinc

B. Graphite

C. Ammonium chloride

D. Maganese dioxide

Answer: A

Watch Video Solution

84. What is the density of solution of sulphuric acid used as an

electrolyte in lead accumulator ?

A. 

B. 

C. 

D. 

1.5gmL− 1

1.2gmL− 1

1.8gmL− 1

2.0gmL− 1

https://dl.doubtnut.com/l/_qqy6awmzQ7k7
https://dl.doubtnut.com/l/_8oSIl4LQEQRo


Answer: B

Watch Video Solution

85. Which among the following equations represents the reduction

reaction taking place inlead accumulator at positive electrode , while

it is being used as a source of electrical energy ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Pb → Pb2 +

Pb4 + → Pb

Pb2 + → Pb

Pb4 + → Pb2 +

https://dl.doubtnut.com/l/_8oSIl4LQEQRo
https://dl.doubtnut.com/l/_bJYoQ9bDzR6K


86. In lead storage battery, the anode reaction is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

PbsO4 ( s ) + 2e− → Pb ( s ) + SO2 −
4 ( aq )

PbSO4 ( s ) + 2H2O ( l ) → PbO2 ( g ) + SO2 −
4 ( aq )

+ 4H +
( aq )

+ 2e−

PbSO4 ( s ) → Pb2 +
( aq )

+ SO2 −
4 ( aq )

PbSO4 ( s ) + 2H2O ( l ) + 2e− → PbO2 ( s ) + SO2 −
4 ( aq )

+ 2H +
( aq )

87. While charging the lead storage battery:

A.  on anode is reduced to Pb

B.  on cathode is reduced to Pb

PbSO4

PbSO4

https://dl.doubtnut.com/l/_PXwNV2SIEeCE
https://dl.doubtnut.com/l/_ELAd1oHzu8jc


C.  on cathode is oxidised to Pb

D.  on anode is oxidised to Pb

Answer: B

Watch Video Solution

PbSO4

PbSO4

88. Which of the following is NOT used in hydrogen-oxygen fuel cell ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

H2

O2

OH −

O− 2

https://dl.doubtnut.com/l/_ELAd1oHzu8jc
https://dl.doubtnut.com/l/_jR5TxBDiYAOp
https://dl.doubtnut.com/l/_Oa1mtNGXcKUk


89. In  fuel cell, the reaction occurring at cathode is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2 − O2

2H2 ( g ) + O2 ( g ) → 2H2O ( l )

O2 ( g ) + 2H2O ( l ) + 4e− → 4OH −
( aq )

H + + e− → H2

1

2

H +
( aq )

+ OH −
( aq )

→ H2O ( l )

90. Which of the following reaction is reaction is used to make a fuel

cell .

A. 

B. 

Cd ( s ) + 2Ni(OH)3 ( s ) → CdO ( s ) + 2Ni(OH) + H2O ( l )

Pb ( s ) + PbO2 ( s ) + 2H2SO4 ( aq ) → 2PbSO4 _ ((s)) + 2H2O ( l )

https://dl.doubtnut.com/l/_Oa1mtNGXcKUk
https://dl.doubtnut.com/l/_nzmFbebVaRPj


C. 

D. 

Answer: C

Watch Video Solution

2H2 ( g ) + O2 ( g ) → 2H2O ( l )

2Fe ( s ) + O2 ( g ) + 4H +
( aq )

→ 2Fe+
( aq )

+ 2H2O ( l )

91. A device that convers energy of combustion of fueles like

hydrogen and methane, directly into electrical energy is known as .

A. fuel cell

B. electrolytic cell

C. dynamo

D. Ni-Cd cell

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_nzmFbebVaRPj
https://dl.doubtnut.com/l/_spKd7B689tTc


92. Identify the weakest oxidising agent among the following.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Li+

Na+

Cd2 +

I2

93. Reduction potentials of A,B,C and D are 0.8 V 0.79 V, 0.34 V and

-2.37 V respectively which element displaces all the other three

elements

A. B

https://dl.doubtnut.com/l/_spKd7B689tTc
https://dl.doubtnut.com/l/_s816CUnnbOjU
https://dl.doubtnut.com/l/_bg5GKD4PhYF3


B. A

C. D

D. C

Answer: C

Watch Video Solution

94. Reducing powers of A,B,C and D are w,x,y, and z respectively such

that `z gt y gt x gt w. The one which will displace all others is __________.

A. A

B. B

C. C

D. D

Answer: A

https://dl.doubtnut.com/l/_bg5GKD4PhYF3
https://dl.doubtnut.com/l/_lkpjYJXbSAIA


Watch Video Solution

95. The value of  for metals A,B and are 0.34 Volt ,  Volt and 

 volt respectively. State the CORRECT order for their ability

toact as reducing agent.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

E ∘
red

−0.80

−0.46

C > B > A

A > B > C

B > C > A

C > A > B

96. The standard reduction potential for  and 

 are  and  respectively. The reaction 

Zn2 + /Zn, Ni2 + /Ni

Fe2 + /Fe −0.76, − 0.23 −0.44V

https://dl.doubtnut.com/l/_lkpjYJXbSAIA
https://dl.doubtnut.com/l/_GaOMbQJmGZwT
https://dl.doubtnut.com/l/_ztjP2RWc56iF


 will be spontaneous when:

A. X=Ni, Y=Fe

B. X=Ni, Y=Zn

C. X=Fe, Y=Zn

D. X=Zn , Y=Ni

Answer: D

Watch Video Solution

X + Y 2 → X2 + + Y

97. The  values for , Mn, Fe and  are 

 and  respectively. For which one of

these metals the change ub oxidation state from  to  is easiest :

A. Fe

B. Mn

C. Cr

EM 3 + /M 2 + ^ ∘ Cr Co

0.41, + 1.57, + 0.77 +1, 97V

= 2 3

https://dl.doubtnut.com/l/_ztjP2RWc56iF
https://dl.doubtnut.com/l/_wvoQrwvUpH9Z


D. Co

Answer: C

Watch Video Solution

98. When a copper wire is placed I a solution of , the solution

acquires blue colour. This due to the formation of .

A.  ions

B.  ions

C. soluble complex of copper with 

D.  ion by the reduction of Cu

Answer: A

Watch Video Solution

AgNO3

Cu2 +

Cu+

AgNO3

Cu−

https://dl.doubtnut.com/l/_wvoQrwvUpH9Z
https://dl.doubtnut.com/l/_f0VvbLEwMznI
https://dl.doubtnut.com/l/_g0R6hKiJdsGv


99. The standard oxidation potential values of A,B,C and D are

 and  respectively. This spontaneous

cell reaction takes place between __________.

A. A and B

B. B and D

C. D and A

D. B and C

Answer: D

View Text Solution

−0.03V , + 0.108V ,0.07 V +0.1V

100. This is involved in rusting of Fe :____________.

A. 

B. 

O2

H2

https://dl.doubtnut.com/l/_g0R6hKiJdsGv
https://dl.doubtnut.com/l/_fLwVvbCoPPYn


C. 

D. 

Answer: A

Watch Video Solution

N2

Cl2

101. DUring galvanisation of iron, which metal is used for coating iron

surface ?

A. Copper

B. Zinc

C. Nickel

D. Tin

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_fLwVvbCoPPYn
https://dl.doubtnut.com/l/_GtHwBEX3phEO


102. Zine can be coated on iron to produce galvanize3d iron but the

reverse is not possible it is because

A. zinc has higher negative electrode potential than iron

B. zinc is lighter than iron

C. zinc has lower melting point than iron

D. zinc has lower negative electrode potential than iron

Answer: A

Watch Video Solution

103. The process in which metal surface is made inactive is called

A. passivation

B. galvanising

https://dl.doubtnut.com/l/_GtHwBEX3phEO
https://dl.doubtnut.com/l/_vZhQIDxofDOf
https://dl.doubtnut.com/l/_kaFIv8O450Ch


Evaluation Test

C. corrosion

D. pickling

Answer: A

Watch Video Solution

1. Water is a non-electrolyte but conducts electricity on dissovling a

small amount of

A. oxygen

B. sugar

C. common salt

D. acetone

https://dl.doubtnut.com/l/_kaFIv8O450Ch
https://dl.doubtnut.com/l/_HVglu6jZmuvb


Answer: C

Watch Video Solution

2. Twoelectrodes are fitted in conductance cell 1.5 cm apart while the

area of cross-section of each electrode is . The cell constant

is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

0.75cm2

0.2cm− 1

0.5cm− 1

0.125cm− 1

2.0cm− 1

https://dl.doubtnut.com/l/_HVglu6jZmuvb
https://dl.doubtnut.com/l/_YxmIxnzCeYXR


3. If the cell constant is  and the resistance is 50  , then

the molar conductance of 0.1 M solution is ___________.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

0.5cm− 1 ohm

10ohm − 1cm2mol− 1

20ohm − 1cm2mol− 1

300ohm − 1cm2mol− 1

100ohm − 1cm2mol− 1

4. A solution of a trivalent metal ion is electrolysed by a current of 5 A

for 10 minutes , during this time 1.18 g of metal was platted out . The

identity of the metal is __________.

A. Cobalt (At. Mass = 58.93 )

https://dl.doubtnut.com/l/_wdTiwTxNVJd8
https://dl.doubtnut.com/l/_FfAJt2oDpTcX


B. Chromium (A. mass = 52.00)

C. Indium (At. Mass = 114.82 )

D. Gallium (At. Mass = 69.72)

Answer: C

Watch Video Solution

5. In a hydrogen-oxygen fuel cell, combustion of hydrogen occurs to :

A. produces high purity water

B. creates potential difference between the two electrodes

C. generates heat

D. removes adsorbed oxygen from electrode surfaces

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_FfAJt2oDpTcX
https://dl.doubtnut.com/l/_aNiw99G3QTei


6. The standard reduction potentials at  for the following half

reactions are given against each: 

 


 


 


 


Which is the strongest reducing agent?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

25∘C

Zn2 + (a. q) + 2e− ⇔ Zn(s) :    − 0.762

Cr3 + (a. q)3e− ⇔ Cr(s),    − 0.740

2H + + 2e− ⇔ H2(g),    0.00

Fe3 + + e− ⇔ Fe2 + ,     0.77

Zn ( s )

Cr ( s )

H2 ( g )

Fe2 +
( aq )

https://dl.doubtnut.com/l/_aNiw99G3QTei
https://dl.doubtnut.com/l/_rPepiWIJ8Bmv
https://dl.doubtnut.com/l/_afcHdUo7eVb0


7. Which coloruless gas evolves when  reacts with zinc in a

dry cell battery ?

A. HCl

B. 

C. 

D. 

Answer: C

Watch Video Solution

NH4CI

N2

H2

Cl2

8. Electrolyte can conduct electricity because ___________.

A. their molecules contain unpaired electrons, which are mobile

B. their molecule contain loosly held electrons which gets free

under the influence of voltage

https://dl.doubtnut.com/l/_afcHdUo7eVb0
https://dl.doubtnut.com/l/_WemoNDG2YAcY


C. the molecules break up into ions when a voltage is applied

D. the molecules are broken up into ions when the electrolyte is

fused or is dissolved in the solvent

Answer: D

Watch Video Solution

9. The standard electrode potential of calomel electrode in 1 M KCl is

_________.0.28 V

A. 0.28 V

B. 

C. 

D. 0.242 V

Answer: A

−0.33V

−0.28V

https://dl.doubtnut.com/l/_WemoNDG2YAcY
https://dl.doubtnut.com/l/_pB1N5RD4Qebr


Watch Video Solution

10. A current is passed through two cells connected in series. The first

cell contains  and the second cell contains

 . The relative atomic masses of X and Y are in the ratio 

. What is the ratio of liberated mass of X to that of Y ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

X(NO3)3 ( aq )

Y (NO3)2 ( aq )

1: 2

3: 2

1: 2

1: 3

3: 1

https://dl.doubtnut.com/l/_pB1N5RD4Qebr
https://dl.doubtnut.com/l/_XXKJfHYcCBq3


11. Time required to deposit 90 g of Al from an electrolytic cell

containing  by a current of 965 A is ___________ . (At. Mass of Al

=27)

A. 20 min.20 s

B. 16 min. 40s

C. 40 min.20 s

D. 26 min.40 s

Answer: B

Watch Video Solution

Al2O3

12. Standard reduction potential values for the electrodes are given

below. 

 


 


Mg2 + 2e− → Mg  is − 2.37V

Zn2 + + 2e− → Zn  is − 0.76V

https://dl.doubtnut.com/l/_lACI5CMxjHDa
https://dl.doubtnut.com/l/_yDo0WcRvgYvD


 


Which of the following statement is correct

A. Zn reduces 

B. Zn reduces 

C. Mg oxidises Fe

D. Zn oxidises Fe

Answer: A

Watch Video Solution

Fe2 + + 2e− → Fe  is − 0.44V

Fe2 +

Mg2 +

13. The reaction 

 


occurs in the galvanic cell

A. 

B. 

H2(g) + AgCl(s) ⇔ H + (aq) + Cl− (aq) + Ag(s)
1

2

Ag∣∣AgCl ( s ) ∣∣KCl ( so ln ) ∣ ∣∣AgNO3 ( so ln ) ∣∣Ag

Pt∣∣H2 ( g ) ∣∣HCl ( so ln ) ∣∣AgNO3 ( so ln ) ∣∣Ag

https://dl.doubtnut.com/l/_yDo0WcRvgYvD
https://dl.doubtnut.com/l/_kH2pLXdJVoe5


C. 

D. 

Answer: C

Watch Video Solution

Pt∣∣H2 ( g ) ∣∣HCl ( so ln ) ∣ ∣∣AgCl ( s ) ∣∣Ag

Pt∣∣H2 ( g ) ∣∣KCl ( so ln ) ∣∣AgCl ( s ) ∣∣Ag

14. What will be the reduction potential of a hydrogen electrode

which is filled with HCl solution of pH value 1.0? (at 298 Kelvin)

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

−59.25V

+59.25V

+59.25mV

−59.25mV

https://dl.doubtnut.com/l/_kH2pLXdJVoe5
https://dl.doubtnut.com/l/_ucBhtak6w9jA


15. Element A( atomic mass 112) and element B (atomic mass 27) from

chlorides. Solutions of these chlorides are electrolysed seperately and

it is found that when the same quantity of electricity is passed 5.6 g

of A was deposited while only 0.9 g if B was deposited. If the valency

of B is 3, then the valency of A is _________.

A. 2

B. 3

C. 4

D. 

Answer: A

View Text Solution

−2

https://dl.doubtnut.com/l/_ucBhtak6w9jA
https://dl.doubtnut.com/l/_c51G5uBEUvQB


16. A current of 3.7 A is passed for six hours between Ni electrodes in

0.5 L of 2M solution of . The molarity of solution at the end

of electrolysis will ___________.

A. remain the same

B. increases

C. decreases

D. first increases then decreases

Answer: A

Watch Video Solution

Ni(NO3)2

17. which of the following will increase the voltage of the cell with

following cell reaction? 

Sn(s) + 2Ag+ + (aq) → Sn+ 2(aq) + 2Ag(s)

https://dl.doubtnut.com/l/_GGbOcqUJX81J
https://dl.doubtnut.com/l/_Nubw9373SQp3


A. Increase in size of the ilver rod.

B. Increase in the concentration of  ions.

C. Increase in the concentration of  ions.

D. Decrease in the concentration of  ions.

Answer: C

Watch Video Solution

Sn2 +

Ag+

Ag+

18. An aqueous solution containing one mole per litre of each

 is being electrolysed using inert

electrodes. The values of standard electrdoe potential in volts

(reduction potential) are 

 


 

With increasing voltage, the sequence of deposition of metals on

cathode will be

Cu(NO3)2, AgNO3, Hg(NO3)2

Ag+ ∣∣Ag = + 0.802Hg2 + ∣∣Hg = + 0.79

Cu2 + ∣ Cu = + 0.34Mg2 + ∣∣Mg = − 2.37

https://dl.doubtnut.com/l/_Nubw9373SQp3
https://dl.doubtnut.com/l/_WcSHkNngUMV9


A. Ag, Hg, Cu

B. Ag, Hg, Cu

C. Cu, Hg, Ag

D. Cu, Hg, Ag

Answer: B

Watch Video Solution

19. When the electric current is passed through a cell having an

electrolyte, the positive ions move towards cathode and negative

ions toqards the anode. If the cathode is pulled out of the solution .

A. the positive and the negative ions both will move towards the

anode.

B. the positive ions will start moving towards the anode and the

negative ions will stop moving

https://dl.doubtnut.com/l/_WcSHkNngUMV9
https://dl.doubtnut.com/l/_K7p3vJFuVgLE


C. the negative ions will continue to move towads the anode, the

positive ions will stop moving

D. the positive ions and the negative ions will start moving

randomly

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_K7p3vJFuVgLE

